| N
\*
-\—s

SUSPENSION SUPPLIES AUSTRALIA

~ WWWw.Ssa.com.au

TRUCK
CATALOGUE

parts for heavy & light truck
includes semi trailers

MY SO o







| [\—

.
A

e
SUSPENSION SUPPLIES AUSTRALIA

Looking for a truck in our
catalogue and can’t find it?

Do it the easy way...

Phone Sales at SSA and ask what we can do for you.

We have a huge range of suspension
products in our warehouse ready to go.

You can also have products
manufactured or modified in our factory.

PH 1800 630 411

sales@ssa.com.au




TABLE OF CONTENTS

Warranty Information .............ccciiiiiiiiii e ii
ConditioNS Of S@IE ....oiiiiiiii s iii
Spring Sheet Specifications ............cocoiiiiiiiiii e iv
MULTI-LEAF TRUCK SPRINGS
Truck Spring - Type Reference ... 2.01
Multi-Leaf Truck SPrings ......ocueeiiiiiiiiieie e 2.02
Multi-Leaf Semi-Trailer ... e 2.46
TRUCK & TRAILER COMPONENTS
Bushes — Imperial & MEtrC .......ccooi oo 3.01
Centre Bolts - Saddle Bolts - Cotter Pins ...........ccooiiii 3.07
ShaCKIE PiNS ..o s 3.11
U-BOIES ..ttt et a e e e en et e ennas 3.47

Note: The BLUEMAX parts offered are not O.E.M parts. Manufacture’s names, parts numbers andother references

or illustrations are for identification purposes only. The products offered are aftermarket parts suitable for the use

of vehicle prescribed.




WARRANTY INFORMATION

TRUCK PARTS WARRANTY

At McNaughtan’s T/A Suspension Supplies Australia (SSA) discretion, we will replace or repair any SSA product which is
found to be defective in material and/or workmanship, providing it has been correctly installed, maintained and that

any part failure or breakage occurs on a registered vehicle under conditions of normal use.

This is a limited warranty valid for a period after the original invoice date as follows:

e Suspension Components: 12 months or 100,000 Kilometers, whichever comes first.

e Urethane Truck Bushes: 12 months or 100,000 Kilometers, whichever comes first. (When Regularly Greased with a
Lithium Based Grease)

e Shock Absorbers: Piranha 12 months or 100,000 Kilometers - SACHS 12 months or 150,000 Kilometers whichever
comes first

e Consumables: 90 days from the date of invoice.

The warranty applies to the defective part only and does not cover any costs associated with the removal or
replacement and/or forwarding or return of the part. The Purchaser agrees to indemnify and hold Suspension Supplies
Australia harmless from and against any loss, injury or damage, to person or property that extends beyond the
warranties set, whether the claims against Suspension Supplies Australia or the damages are incidental or
consequential. The warranty covers the original purchase and is not transferable.

Warranty exclusions also include the following:
1. Fitting a part to a vehicle that is not (i) correctly matched with other suspension components or (ii)intended

for the application.
Any repairs, alterations or modifications to the product or installation.
Vehicle modifications subsequent to the purchase of SSA parts may void warranty.
The operation of the subject vehicle loaded outside the manufacturer’s recommendations and/orexceeding
relevant Government’s GVM limits will void the warranty.
5. Any product subjected to accident, extreme use or negligence.
The use and/or reworking of second hand parts.

Normal wear and tear.

Suspension Supplies Australia is to be notified by the Purchaser of a defect in writing/email as soon as it is noticed.
Repair or replacement is preconditioned on the examination of the goods by Suspension Supplies Australia, which may
require the goods to be returned to SSA’s premises at 219 Toombul Rd., Northgate Q 4013.

Warranty claims made without substantial records will not be considered. Claims are to include a copy of the original
invoice showing purchase date, detailing the vehicle owner, vehicle description and odometer reading — the installer’s
details must also accompany the claim. Vehicle details current at the time of claim will also be required.

SERVICE WARRANTY

Work performed by our service department is covered for 90 days provided the vehicle is operated under conditions
of normal use with the above conditions and exclusions applying.



CONDITIONS OF SALE

The Vendor sells and the Purchaser buys the goods and services as per invoice and on the following conditions.

The Purchaser will pay the price of these goods and services to the Vendor within the time agreed with the Vendor. If
there has been no agreement as to time, payment must be paid within 7 days of this invoice.

Title to these goods does not pass to the Purchaser until the Vendor is paid in full for these goods and services and all
other goods and services previously supplied by the Vendor.

The Purchaser will:-

Store separately goods, which have not been paid for.

2. Keep separate records of the proceeds for the sale of any goods which have not been paid for, bank theproceeds
into a separate account on behalf of the Vendor and immediately remit the proceeds to the credit of the Vendor;
and

3. If any goods are used in a manufacturing process, or incorporated into vehicles or other machinery, record the
value of goods so used in relation to each unit finished product and upon sale of any unit of finished product
immediately pay the value to the Vendor from the proceeds of the sale.

If the Purchaser does not pay for any goods by the date specified in these conditions the Vendor may enter the
Purchasers premises (or any premises under the control of the Purchaser or its agents) and usereasonable force to
take possession of the goods without liability for trespass, negligence or the paymentof any compensation to the
Purchaser.

Risk in the goods passes to the Purchaser upon delivery of the goods to the Purchaser or upon collection of the goods
by the Purchaser’s agent or courier.

DELIVERY CONDITIONS FOR DISPATCHED GOODS

Our responsibility ceases on delivery to courier, transport company or rail. Before signing for or accepting
parcels, examine for loss or damage. When loss or damage occurs claim immediately on the carrier or your
Insurance Company.

RETURN OF GOODS

Suspension Supplies Australia is to be notified prior to goods being returned. Any returns are to be within
21 days of invoice date. Invoice Number and date must be quoted before credit will be considered and
freight prepaid. Prices are ex-Store Freight, Insurance etc., are owners cost.

SPECIAL PRODUCTS

Products that are made to customer’s special order, customer’s specifications or are non-stock products,
are not acceptable for return or credit. Cancellation of orders for special or non-stock products will not be
accepted.

NOTE: This catalogue has been produced as a guide to select replacement parts. The manufacturer’s names,
0O.E.M. reference numbers and illustrations appearing in this catalogue are used only to aid in identification of
Suspension Supplies parts. Care has been exercised in producing this catalogue accurately, but no liability is

accepted for errors or omissions that may be present.




= g
%Eﬁmﬁ,. SPRING SPECIFICATION SERINGS:

The sheet on the page opposite is a SPRING SPECIFICATION SHEET which SSA uses as a means ofrecording preliminary
information about a leaf spring's specifications.

WHEN DO YOU NEED TO USE IT?

Helpful Tips

If you encounter a vehicle leaf spring that you need to communicatedetailed
specifications for, please use this sheet provided. SSA staff will advise you, if “How to Measure Leaf Springs”

and when, collection of information for an unlisted spring is essential for
identification or manufacture purposes.

The numerous measurements listed below show that the manufacture of a “nw Tn lnEN‘I"
spring requires detailed specifications. The use of this sheet will assist you Ynlln lm spnluas

to remember to record ALL the required information and provide you with ‘

a means to record it in a legible fashion. - 1
-
$ 8

SUSPENSION SUPPLIES AUSTRALIA

\\

DETAILS & IDENTIFICATION OF SPRINGS

Number of leaves in the pack - including any auxiliary pack eg. 7 primary + 2 auxiliary
Width of the spring pack e.g. 80mm

Main leaf length for the primary pack. Measure from centre of eye of the primary main leaf to centre bolt hole
following the shape of the spring not in a straight line. A left & right measurement is required and should be
recorded left and right against the leaf number on the SPRING SPECIFICATION SHEET counting from the top of the
pack.

Main leaf length for the auxiliary pack - measure from the end of the auxiliary main leaf to centre bolt hole
following the shape of the spring not in a straight line. A left and right measurement is required and should be
recorded left and right against the leaf number on the SPRING SPECIFICATION SHEET counting from the top of the
pack

Main and wrap leaf eye type (refer the table bottom left of template page & record the number)

Subsequent leaf lengths including packer plates - record next to #3 - up to #24

Thickness of each leaf - record next to the relevant leaf # in the plate thickness column

1.D. of each eye - record in the EYE "A" or "B" Size with "A" being the front of the vehicle

Camber of the spring - refer the diagram bottom left of SPRING SPECIFICATION SHEET pagefor measurement
points

Centre bolt location - eg head to main leaf would suggest an under slung spring

Centre bolt dimensions - centre bolt length and diameter of shank and head size

Clip information - material dimensions and type of clip

To assist you to complete our SPRING SPECIFICATION SHEET we have attached an example. DO NOT hesitate to contact
SSA staff if you have any questions.

PH 1800 630 411




SPRING SPECIFICATIONS SHEET SART No

.+ 219 Toombul Road (P.O. Box 399) Northgate Qld 4013 Australia
SUSPENSION SUPPLIES AUSTRALIA Ph. (+61) 7 3370 3200 Fax (+61) 7 3370 3201 info@ssa.com.au www.ssa.com.au

MODEL DRAWN BY

OEM No POSITION |EYE ‘A’ SIZE| CENTRE |EYE ‘B SIZE[SOURCE OF INFORMATION WEIGHT
BOLT HOLE

CAMBER PLATE|CUT LENGTH | EYE ‘A’ SIZE EYE ‘B SIZE | END TYPES GENERAL NOTES

THICK
e LEAF No.

No OF LEAVES| WIDTH

—_

CENTRE BOLT

SIZE

HEAD
LOCATION
HEAD
DIMENSION

PART No

BUSHES
‘A’ SIZE

© 0o N o o b~ W N

PART No

‘B’ SIZE

PART No

CLIPS

S
|
4
E

BOLT

oo (LU g e

COVER FO.c) === (BL)
NIB DETAILS

LOAD RATE

MAX DEFLECTION

MAX LOAD

STEEL DM LENGTH

@@7 . 8 Qg @10
Cn Oz @ &
Kﬁ :%16 '%17 N&

SQ END TYPES SP RED

[Mho [ oo Mer (oo (o /e




SUSPENSION SUPPLIES & SERVICE PART No
SPRING SPECIFICATIONS
29 Tnombul Road. MNorthgate Q.0 4013 Austealia
P #G10 T 3256 8227 Fax (#6137 3756 8333 Freai infoflSLEDenSiOnsLiokes COM au Aww. SUSIENSionsupplies com ay
MAKE MODEL DRAWN BY DATE
Maxe De\emer & \Maver BupYear U Vlaner:
OEM No POSITION EYE ‘A’ 81ZE BSE;‘.]’;EELE EYE ‘B* SIZE[ SOURCE OF INFORMATION WEIGHT
REAR | 38 [0 34

M CAMBER ,g’fﬂ? PLATE CUT LENGTH EYE N TYPE 3 z EYE ‘B’ TYPE (END TYPES GENERAL NOTES

THIGK-
Y] JZ0 | NESs & LEAF No /

No OF LEAVES

WIDTH

o

1 _boo

34

70

[0

385300 /¢

W SIE

CLIPS e -

CENTRE BOLT i‘D -
iocton | SHORTR AT o
— w0

o

36 2B

? KBO:.?'@{PB
7 Zx F;L-D Over.o oo
E _

LS50

IR O

TEZD
RO

50O [fme -

19

’fibvc@ﬁﬂg{
4 75 bOmm Woe

19 £ﬁcK S0mm From
74/33 (znTRE DF Eyz_

23

620 Bz [/ 7

25%x 6 - /WO . g . _
[ Plaotr s | - o e v mm S o S i
FOLD QVER B.CY ' :
cEIFSE) 1 IO
NIB DETAILS T R o S T
) . 18 )’ e
R w o &
20 . @
LOAD RATE 21 BN/ + 5
MAXDERLECTION 22 : ( 6
23 S o
HAKLDID 24 ..
STEEL O LEAGTH kG
T\\Q\\\15 15 -._‘_17 18
20 ENUTYPES N L‘\%Sp %RED
A
’ [Tﬂw :—lll"’o mhz" '/"\]Pzz mn” irl'l- 24




Attention CAPRICORN MEMBERS
Suspension Supplies Australia is an approved

| -—. Capricorn Society supplier servicing Capricorn

-
=t
o+

\¥hy did I join
Capricorn?

st-eaqsier!

e Instant credit with hundreds of top
name suppliers

e One consolidated statement each
month

e Reward points with every purchase

Free online service data great social
d more

Established in co-operative for
the automotive service an ir_industry in
' Australia, Capricorn Society Limited has grown to
represent over 13,000 members in three
countries. Together they purchased last year over
AU S$850 million in products and services from a
- network of around 1,200 preferred suppliers. With
member benefits such as our own travel agency,
our own insurance alternative and many great
financial services, shouldn't you be a member too?

1 > www.capricorn.coop
o

FREECALL 0800 993 129

PHONE +2711 791 3363

PHONE +2711 792 6520

@ CAPRICORN

Capricorn Society Limited - Registered under the Corporations Act 2001 ACN 008 347 313



Truck
Leaf Spring Section

BLUEMAX Distributing Australia Wide Ph 1800 630 411
219 Toombul Road - Northgate Qld 4013 - Australia - www.ssa.com.au



Blue Max - Trucks
12 months or 150,000 kims,

whichever comes first

Sachs - Trucks
12 months or 100,000kIms,

whichever comes first

TRUCK PARTS WARRANTY

At Suspension Supplies Australia's discretion, we will replace or repair any
product which is found to be defective in material and/or workmanship,
providing it has been correctly installed and any failure or breakage occurs
under conditions of normal use. This is a Iimitedtwarranty valid for a period

after the original invoice date as follows.

SERVICE WARRANTY

All work performed by our service department
is warranted for 90 days provided the defect
occurs under conditions of normal use.

Aust Wide




TYPE REFERENCE

TYPE A1

TYPE A3

TYPE A2

TYPEB

TYPEC

Sy

TYPE B1

TYPE C1

TYPED

TYPEH

TYPE K

TYPE J

2.01

TYPEM



FORD FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTtwo RIGHT© gysy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE paptNO BOLT NO
E BOLT BOLT
(mm) (mm)
MAZDAO001 Light Duty 8 70x7 550 550
FORD TRADER
: BU751UK CBS38-6A
0409 0509 A MAZDAO003M Medium Duty 8 70x8 550 550
0811 0812
MAZDAO003 Heavy Duty 10 70x8 550 550
Ubolt UB505 5/8" x 72mm x 130mm - Square Top
FORD001  DOHZ-5310H 11 100x10 609 724  BUO73BM CB716-6
LOUISVILLE
LN80O / 8000 . : .
LN900 / 9000 A Ubolt UB257 3/4" x 102mm x 255mm - Semi-Round Special
LNT 900 / 9000
LNT 8000 FORDOOIA 11 100x10 609 698 BUO73BM CB716-6
1975 - 1987
With 1" shorter main leaf than STD
Ubolt UB257 3/4" x 102mm x 255mm - Semi-Round Special
::_‘I?:'SV"-'-E FORDO001P 4 100 609 724  BUO73BM CB716-6
03/1989 - ON
Ubolt UB257 3/4" x 102mm x 255mm - Semi-Round Special
LOUISVILLE 100x10 MAIN &
LTS AFTER 03/1989 FORD005  LF5310A 16+2PP WRAP 609 724  BUO73BM CB716-6
AEROMAX A 1008 3-16
1988 - 1995
CHECK SPRING SPEC Ubolt UB926 3/4" x 102mm x 285mm - Semi-Round Special
LOUISVILLE
FORDO007
LN8000 / 9000 can use LB5310B 15 100x101-2 609 724 BUO73BM CB716-6
LNT8000 / 9000 A 1008 3-15
FORD005
LTL8000 / 9000
05/1987 to 03/1989 Ubolt UB926 3/4" x 102mm x 285mm - Semi-Round Special
CARGO 8108
1313 1515 B FORDO08 .. * 9 75x13 825 950 BU539U CB12-6
TWIN STEER
CARGO
1313 1515 B FORDO10M 9 75x13 940 1040 BU539U CB12-6
SINGLE STEER
CARGO
2421 B FORDO011 7 90x13 600 680 BUS39AU CB12-6
TWIN STEER 1st
CARGO
2419 2421 B FORDO012 3(2)5585;%30 9 90x13 825 950 BU5S39AU CB12-6

SINGLE STEER

This Catalogue is for reference purposes. Not all items are stocked.

2.02



FORD FRONT conTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO  MATERIAL LEFTwo  RIGHTw© pgygy CENTRE
MODEL P PARTNO  REFNO LEAVES SIZE mm) CENTRE CENTRE papTNO BOLT NO
E BOLT BOLT
(mm) (mm)
mgc;o B FORDO015 7 75x13 825 950  BU539U  CB12-6
AEROMAX 120
LTLS LTLALLA A FORD028M F2HZ5310AJ 11 100x11 720 760  BUO73BM CB716-6
LLA LTA LA
(1990 - 1995)
CHECK SPRING SPEC
Ubolt UB257 3/4" x 102mm x 255mm - Semi-Round Special
CHECK 11 100x10 640 740  BUO77BM CB716-6
LTS (LATE) MAIN LEAF
LN80 LENGTH&  NOTE: FORDO032 requires a wedge, not supplied with SSA packs.
STERLING FORD032 - B
CHECK Remove from old pack & fit to replacement pack. Use CB716-8 if wedge not
UBOLTS drilled. Use CB468 if wedge drilled & grind head to 16mm.
HN80 LN80 3/4" or 7/8"
A
SILVERSTAR Ubolt UB926 3/4" x 102mm x 285mm - Semi-Round Special
CHECK
LT7500 AT9500 FORD034 UBOLTS  8+Wedge  100x13 760 760  BUO77BM  CB716-6
LT9500 LTN9500 314" or 7/8"
Ubolt UB257 3/4" x 102mm x 255mm - Semi-Round Special

ROCKWELL SUSPENSIONS - refer to Multi-Leaf Truck Springs ROCKWELL for futher details.

HENDRICKSON SUSPENSIONS - refer to Multi-Leaf Truck Springs HENDRICKSON for futher details.

REYCO SUSPENSIONS - refer to Multi-Leaf Truck Springs REYCO for futher details.

This Catalogue is for reference purposes. Not all items are stocked.

2.03



FORD REAR

= DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFT©o RIGHTw© gysy  CENTRE
MODEL P PARTNO  REFNO LEAVES  SIZE mm) CENTRE CENTRE papTNO BOLT NO

E BOLT  BOLT

(mm) (mm)
70x11 AUX
FORD TRADER A1 MAZDA004 4+2PP+7  70x10 2pP 600 600 BU751UK CB38-6
MODEL 0409/0509/0811 70x10 PRI
Ubolt UB506 3/4" x 72mm x 355mm - Square Top
AUXILIARY SPRING
ASSEMBLY E  IHOO7H ::II':_I'AA\\/SY f;f;; 4 75x10 485 485 NR CB38-3
D750, D850
CARGO
1312, 1313 N FORDO009 6+1PP+7 75x13 725 815 BU539U CB12-10
1514, 1515
f:‘;eo N FORDO019 8+1PP+7 77%’;1114‘;L:|‘ 800 900 BU539U  CB716-10
f:;ieo N FORDO027 5+1PP+6 75x14 724 813 BU539U CB12-8
TUFTRAC-05P FLC16-15724 70x50

K 40,000 LB -002 2 TAPERED 838 838 N/A

STERLING

NOTE: Assembly includes 1 x 2 Leaf Parabolic Spring - 1 x Upper Casting - 1 x Lower Casting - 2 x Ubolt

ROCKWELL SUSPENSIONS - refer to Multi-Leaf Truck Springs ROCKWELL for futher details.

HENDRICKSON SUSPENSIONS - refer to Multi-Leaf Truck Springs HENDRICKSON for futher details.

REYCO SUSPENSIONS - refer to Multi-Leaf Truck Springs REYCO for futher details.

This Catalogue is for reference purposes. Not all items are stocked.

2.04



FREIGHTLINER FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTw©o RIGHTt gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papTNO BOLT NO
E BOLT BOLT
(mm) (mm)
supplied with
BU693
F-LINER001 681-320-1502 9 100x13 965 796 Brmetl - cpigg
F80 F112 optpn also
FL/FLB/FLC112 A3 i
1988-1995
Ubolt UB271 7/8" x 102mm x 220mm - Square Top - Check Dimensions
Ubolt UB272 7/8" x 102mm x 270mm - Round Top - Check Dimensions
Ubolt UB273 7/8" x 102mm x 270mm - Square Top - Check Dimensions
supplied with
BU693
FL60 FL70 FL80 FL106 F-LINEROO3 55 3500902 8 100x14 710 g3g Bmetdl  cpyrg
MB60 MB70 MB80 8,000LB AXLE option also
A3 available as
BUSINESS CLASS
1992 - 1995 BUO77BM
Ubolt UB589 3/4" x 102mm x 264mm - Round Top - Check Dimensions
Ubolt UB271 7/8" x 102mm x 220mm - Square Top - Check Dimensions
REPLACES
F-LINER005 3 LEAF 12 100x11 1-3 667 737 suppliedwith CB12-8
PARABOLIC 100x10 4-9 BU693
Bi-metal
ARGOSY option also
CENTURY CLASS C120 REPLACES 100x11 1-7 available as
A F-LINEROOS5H 4 LEAF 12 100x108.12 667 737 BUOT7BM  CB12-8
COLUMBIA CL120 PARABOLIC
Ubolt UB589 3/4" x 102mm x 264mm - Round Top - Check Dimensions
Ubolt UB271 7/8" x 102mm x 220mm - Square Top - Check Dimensions
Ubolt UB272 7/8" x 102mm x 270mm - Round Top - Check Dimensions
ARGOSY F-LINEROOSP 4101201900
CENTURY CLASS K Always check  p16.12614-001 3 100x18 At centre 660 740 BUO77BM
FL112 FLC112 mainleaf  A16.13132-000
single steer only - -
Ubolt UB272 7/8" x 102mm x 270mm - Round Top - Check Dimensions
ARGOSY
F-LINER004P
CENTURY Always check 21 g:;ggg::ggg 3 100x20 At centre 660 765 P313
COLUMBIA CORONADO main leaf
FL112 FLC112
single steer only
WITH MOULDED PIN AND NOTE: Some models will have a silent block bush on the rear with a hex head bolt. Bushes
BUSH will have to be bought from Genuine for this application
Ubolt UB272 7/8" x 102mm x 270mm - Round Top - Check Dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.05



FREIGHTLINER REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL é—:::é‘é E:EC::'_:_LE BUSH  CENTRE
MODEL P PARTNO  REFNO LEAVES  SIZE (mm) PART NO BOLT NO
E BOLT BOLT
(mm) (mm)
HENDRICKSON
RT380 B ﬂggﬁgﬂgom 27168-000 10 100x14 432 527 BUO78BM CB12-8
SUSPENSION
FREIGHTLINER
ARGOSY
F Eg'a(')?L'gROOZ 681-324-0406 9 75x13 560 648  NIR CB12-6
4 SPRING SUSPENSION ONLY ’
* includes tag/lazy axles
TUFTRAC-05P FLC16-15724 70x50
K 40,000 LB -002 2 TAPERED 838 838 N/A

FREIGHTLINER

NOTE: Assembly includes 1 x 2 Leaf Parabolic Spring - 1 x Upper Casting - 1 x Lower Casting - 2 x Ubolt

This Catalogue is for reference purposes. Not all items are stocked.

2.06



b : . .H.._'& it

. _.r;---r _ ne road.
. Safe with S/

_shock absor

Comme

SACHS is a brand of ZF

www.zf.com SACHS




HENDRICKSON

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTwo RIGHT w0 gysy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papt NO BOLT NO
E BOLT BOLT
(mm) (mm)
FOUR SPRING HENDO03  47474-000 1PP+8 75x10 1PP 475 605 BU548  CB12-6
E4 380 B1 75x13 2-9
36,000LB Suspension
Ubolt UB571 7/8" x 76mm x 410mm - Round Top
FOUR SPRING 7510 1PP
E4 400 B1 HENDOO3H  48400-000 1PP+8 e 14 475 605 BU548  CB12-6
40,000LB Suspension )
RUE /RTE 380 5 HENDOO4  32541-000 12 100x13 432 724  BUO78BM CBS12-8
1 3/8" PIN
38,000LB Suspension
NOTE: For 13 leaf add a packer to bottom of pack
FOUR SPRING 75x14 1-5
HES 400 G HENDOOSH 50796-000 7 i3 en 555 605 N/A CB12-5
RT2 340 73700-000
ST Duty B HENDOO6 oo 11 100x13 432 527 BU178BM CBS12-8
RT 380
RT440 B HEND007  27321-000 10+2PP 100x14 432 527 BUO78BM CBS12-8
44,000LB Suspension
RT 340
1.3/8" PIN HENDO08 73726-000
e B USE HENDOO? 79706.000 12 100x13 432 527 BUO78BM CBS12-8
38,000LB Suspension
BU0O78BM
RT 380 HEND009 » )
20,0015 Suspansion B s HENDOoy 45027-000 10 100x14 432 527 for 125 CBS12-8
BU178BM

MITSUBISHI B HEND014  MC607694 11 100x13 432 520 BU474  CBS12-8

This Catalogue is for reference purposes. Not all items are stocked.

2.07



HINO FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO  MATERIAL LEFTwo  RIGHTt gygy CENTRE
MODEL P PARTNO  REFNO LEAVES SIZE mm CENTRE CENTRE papTNO BOLTNO
E BOLT BOLT
(mm) (mm)
KL300 RA8110-4140 70x9 1-6
KL340 A HINO001 L__481 10_'4150 6+1+1PP 70x16 7 580 610 BU311BM  CB38-4
1974 - 1982 70x8 1PP
HINO005
LA540 LA560 R-48110-1760A
LB500 LB520 LB560 A canuse L-48110-1760A 11 80x9 700 700 BU390BM CB12-6
1978-1982 HINOOo7
Ubolt UB232 3/4" x 82mm x 230mm - Square Top
KR300, KR320
KR360 A HINOO019 8 80x10 609 635 BU390BM CB716-6
1974 - 1982
FC14K, FC141K
Eg::ﬁ:ﬁ FC144K R-48110-5470A
, L-48110-5480A
FC3J RANGER PRO5 HINO003 48110-8560A 10 70x10 650 650
FC3W MERLIN 48120-4790A
FC4J RANGER PRO 5 *CCBBS13085;6A
FD164L FD166L BU311BM P/Bolic
FD171K FD174K
FD176K FD1J & FD2J A R48110-5470A
RANGER PRO 6 L-48110-5480A
FD3H SUPER HAWK HINOOO3H 48110-8560A 11 70x10 650 650
FD3W HAWK 48120-4790A
FE1426 FT163L FT165L
EI“W NOTE: When replacing factory parabolics with this multi-leaf spring. The Centrebolt must be
GD31 74II((ESéRDIiL76K replaced with CB108
GD1174L GD176L Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check Dimensions
GD1J RANGER PRO 7 Ubolt UB243 3/4" x 72mm x 170mm - Square Top - Check Dimensions
GD3H HARRIER NOTE: GD1J-2005 The O.E. ubolt has a stepped thread to pass through the hole in the lower shock mount bracket. If

replacing the ubolts with aftermarket 3/4" threaded rod, the bracket holes will need to be drilled out.

FF172K, FF173K
FF177, FF177KA R-48110-5550A
FF192K, FF192L R-48110-9750A

FF193K, FF193L A HINOO007 L-48110-5560A 12 80x10 700 700 BU390BM  CB12-6
FF197K, FF197L L-48110-9760A
FF197, FF197KA
FM3M SHRIKE Ubolt UB232 3/4" x 82mm x 230mm - Square Top
FG172L FG173L
FG175L FG177L R-48120-3030A 8+
ig:ggt ig:ggt R HINOOD9  oprogoron. m:,?,l: 90x12 700 700  BU970BM  CB916-8
FG1J RANGER 9
GH1H SUPER EAGLE 1000
GH1J RANGER 10
GH3H SUPER EAGLE 900 NOTE: Check main leaf measurement can be HINO039 or HINO035
Ubolt UB233 3/4" x 93mm x 230mm - Square Top - Check Dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.08



HINO FRONT conTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTwo RIGHT gygy  ceNTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paRT NO BOLT NO
E BOLT  BOLT
(mm) (mm)
80x10 1PP
1PP + 80x11 1-3
HINOO021 10 + Shock 80x10 4-10 700 700
iEi‘;‘ RAVEN Mount + 1PP 80x10 sm
RANGER 8 80x10 1PP
FF2H GRIFFIN BU440BM CB916-6
80x10 1PP
GT1J A 1PP+ 80x11 14
RANGER PRO 87 4x4 HINO021H 11+Shock  80x10 5-11 700 700
GT3H OSPREY Mount + 1PP 80x10 sMm
GT173 / GT175 4X4 80x10 1PP
GT8J * Shock Mount on bottom of pack is angled down at 45 degrees
NOTE: Hino GT1J can come with Through Bolts
Ubolt UB241 3/4" x 82mm x 250mm - Square Top
90x12 1PP
HINOO11 48110-8290A 1PP+8 2.9 90xi4 750 750
GS221 GS224 BU970BM CB12-6
GT173K GT175K A
GT173M GT175M HINOO11H 90x12 1PP
can use 1PP+9 210 90x14 750 750
MITS007H
Ubolt UB233 3/4" x 93mm x 230mm - Square Top - Must Confirm
80x11 1-3
10+SM 80x12 4-9
GS221 GS224 HINO023 +1PP 80x11 10 700 700 BU390BM CB12-8
GT173K GT175K A 80x10 sm
GT173M GT175M 80x10 1PP
* Shock Mount on bottom of pack is angled down at 45 degrees
Ubolt UB232 3/4" x 82mm x 235mm - Square Top - Must Confirm
11 + Shock 80x11
FM1J RANGER 14 1998 ON 700 700 BU440BM CB12-6
CHECK MAIN LEAFLENGTH  ,  HINO025 Mount 80x10 sm
AS SPRINGS VARY AROUND * Shock Mount on bottom of pack is straight
2003 Ubolt UB232 3/4" x 82mm x 235mm - Square Top
48110 37230 2PP+4 70X16
300 SERIES 817 4X4 HINOO081P 48110 37220 +SP Taper 650 650 BU311BM
Ubolt UB584 16mm x 72mm x 380mm - Square Top
RK145A
RAINBOW BUS A MITS009 5 70x11 600 600 BU723UK CB38-4

This Catalogue is for reference purposes. Not all items are stocked.

2.09



HINO FRONT conTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTwo RIGHTw© gysy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paRT NO BOLT NO
E BOLT  BOLT
(mm) (mm)
80x12 1-2
3 Leaf Parabolic Replacement 7+2+Sway 80x13 3.7
FG1J RANGER PRO 9 2003+ A H|N0039 Bar Mount 80x16 8 735 735 BU440BM CBS58-8
FG8J FL1J +SM + PP 80x13 9
RANGER PRO 12
FL2427 EM1J NOTE: Check main leaf measurement can be HINO009 or HINO035
RANGER PRO 14 - PRE 2003 Ubolt UB241 3/4" x 82mm x 250mm - Square Top - Check Dimensions
Ubolt UB543 7/8" x 82mm x 245mm - Square Top - Check Dimensions
PARABOLIC OPTION 80x20
FG1J RANGER PRO 9 2003+ H|N0039P 4 + SM (Taper) 735 735 BU44OBM CBS58-8
FG8J FL1J A
RANGER PRO 12 NOTE: Check main leaf measurement can be HINO009 or HINO035
FL2427 FM1J Ubolt UB241 3/4" x 82mm x 250mm - Square Top - Check Dimensions
RANGER PRO 14 - PRE 2003 Ubolt UB543 7/8" x 82mm x 245mm - Square Top - Check Dimensions
4 Leaf Parabolic Replacement
FG1J RANGER PRO 9 2003 80x12 1-6
FG8J FM1J FM8J HINO035 11+SM 80x13 7-11 760 720  BU440BM CB12-8
RANGER PRO 12 80x10 sm
FL2427 FL1J NOTE: Check main leaf measurement can be HINO009 or HINO035
ig'\;iERG'::?j 12:%? 2003 Ubolt UB241 3/4" x 82mm x 250mm - Square Top - Check Dimensions
Ubolt UB543 7/8" x 82mm x 245mm - Square Top - Check Dimensions
PARABOLIC OPTION
FG1J RANGER PRO 92003 HINOO035P SP+aL+SP+ 80x20 755 715  BU440BM CB12-8
FG8J FM1J FM8J SM (Taper)
RANGER PRO 12
FL2427 FL1J NOTE: Check main leaf measurement can be HINO0O09 or HINO035
RANGER PRO 14 POST 2003 Ubolt UB241 3/4" x 82mm x 250mm - Square Top - Check Dimensions
FD8J GH1J GH8J Ubolt UB543 7/8" x 82mm x 245mm - Square Top - Check Dimensions
70x10 1-7
DUTRO HINOO027 7 70x12 sp 630 630 BU311BM CBS38-4.5B
6000 6500 7500 8500 70x10 1PP
gg;g:;esgim BUSHES NOTE: Some O.E. Springs may have sway bar mount on bottom of spring pack - must re-use
Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check Dimensions
PARABOLIC OPTION
DUTRO HINO027P 3pp+3+3pp (OX18 630 630 BU311BM CBS38-4.5B
6000 6500 7500 8500 A (Taper)

3 LEAF PARABOLIC

WITHOUT SILENT BUSHES
Greaseable Pins

NOTE: Some O.E. Springs may have sway bar mount on bottom of spring pack - must re-use

Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check Dimensions
70x10 1-7
DUTRO HINO027SB 7 70x12 sP 630 630 BU763UK CBS38-4.5B
6000 6500 7500 8500 20x10 1P

WITH SILENT BLOCK BUSHES
& HEXHEAD BOLTS

NOTE: Some O.E. Springs may have sway bar mount on bottom of spring pack - must re-use

Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check Dimensions
PARABOLIC OPTION 70x18
DUTRO HINO027SBP 3PP+3+3PP TX 630 630 BU763UK CBS38-4.5B
6000 6500 7500 8500 (Taper)

3 LEAF PARABOLIC

WITH SILENT BLOCK BUSHES
& HEXHEAD BOLTS

NOTE: Some O.E. Springs may have sway bar mount on bottom of spring pack - must re-use

Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check Dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.10



HINO REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTto RIGHT© gysy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papT NO BOLT NO
E BOLT BOLT
(mm) (mm)
KL300 KL320
KL340 A1 HINO002 48210-4550 7+8 70x11 660 648 BU121BM CB716-8
KL360 1974 - 1982
FC14K FC141K FC142K
FC144K FC146K FLEETER
for FC models see also HINO017
FD164L FD166L 18210.75308 70x10 AUX
FD171K FD174K FD176K |, HINO004 5 "0 " 7+8+6PP 70x11 PRI 650 820 BU121BM CBS12M-10
GD164L GD166L 70x11 6PP
GD174K GD176K
GD174L GD176L
GD1J RANGER PRO 7
Early - check main leaf length
Ubolt UB550 18mm x 72mm x 405mm - Square Top
70x10 1-3
FC141 KA FC141 KD 70x11 4-5
FC142 KA FC144KA 151300-3332 70x9 6 CB12-8
FO146KA y  HINOO17 oia00.1ya; | T+B+2PP o107 635 840  BU121BM 0TE
FC146KA FLEETER 70x11 PRI
For FC models see also HINO004 70x10 2PP
Ubolt UB550 18mm x 72mm x 405mm - Square Top
LA540 LA560 LB500 HINO006 9+10 80x10 AUX 800 800 BU440BM CB467
A1 80x12 PRI
LB520 LB560
Ubolt UB553 7/8" x 82mm x 430mm - Square Forged
FF172KA FF172LA R 48210.6730A 80x11 1
FF172LD FF172LF HINO008 Cieatogon 10410 80x10 2-10 700 870  BU440BM CB112
FF173KA FF173LA 80x12 PRI
FF177KA FF177LA N Ubolt UB553 7/8" x 82mm x 430mm - Square Forged
FF192KD FF192LD
FF193KA FF193KD HINOO10  48210-51808 11+10 80x10 Aux 800 965 BU440BM CB112
FF193LD FF197KA 80x12 PRI
FF197LA Ubolt UB556 7/8" x 82mm x 455mm - Square Forged
FM1J RANGER 14
FM3M SHRIKE HINO012 482102930 9 90x18 740 740 NR CB122
FS1KLKD SUPER DOLPHIN |
GS221 GS224 FS270
GT173K GT175K GT173M Ubolt UB552 27mm x 92mm x 305mm - Square Forged - Check dimentions
GT175M Ubolt UB591 27mm x 92mm x 330mm - Square Forged - Check dimentions
FG1J RANGER 9
FG1J
RANGER PRO'9 POST03 HINO013  48220-3360A  9+11 90x12 700 700  BU137BM CB112
GH3H A1
SUPER EAGLE 900
GH1H SUPER EAGLE 1000
GH1J RANGER 10 Ubolt UB551 24mm x 92mm x 350mm - Square Forged
FG172L FG173L FG175L 641PP+10 2%’)‘(11%) hx
FG177L y HINOO14  48220-1700A °" oo 0x12 P 715 890 BU137BM CB112
Fo195LA FO197LA 9016 17
Ubolt UB551 24mm x 92mm x 350mm - Square Forged

This Catalogue is for reference purposes. Not all items are stocked.

2.11



HINO REAR conTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTto RIGHT© gysy  GCENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papT NO BOLT NO
E BOLT BOLT
(mm) (mm)
FE3H RAVEN
FF1J RANGER 8 HINO015 10+10 80x10 AUX 698 698  BU214BM CB112
A1 80x11 PRI
FF2H GRIFFIN
KR300 KR320 KR360 Ubolt UB553 7/8" x 82mm x 430mm - Square Forged
$§’22723 GS224 | HINOO16 11 90x18 750 750  NR CB112
HEAVY APPLICATION
SUSPENSION Ubolt UB555 27mm x 92mm x 360mm - Square Forged
FD1J FD2J
RANGER PRO 6
FC3J FC3W 70x10 AUX
HINO028 9+1PP+9 70x7 1PP 648 660 BU121BM CBS12M-10
MERLIN 1998-ON
70x11 PRI
FC4J RANGER PRO 5
FC7J FETJ
FD3H & SUPER HAWK
FD3W HAWK 1995-1997 A1
FD7J FD8J 0510 AU
X
FT163L FT165L HINOO028H 10+1PP+10  70x7 1PP 648 660 BU121BM CBS12M-10
FT1J FT3W FT8J
70x11 PRI
GD1J RANGER PRO 7
Late check main leaf length
GD3H HARRIER Ubolt UB550 18mm x 72mm x 405mm - S Top - Check dimenti
FT1022 FTST - 500 [o] X mm X mm - square 1op - ec !men !ons
Ubolt UB585 18mm x 72mm x 465mm - Square Top - Check dimentions
GT1J Ranger Pro 8Z 4x4 80x11 AUX
GT3H OSPREY A1 HINO024 11412 80x13 1 800 goo BUIS7BM (pyy5
Cut to 80mm
GT8J 500 80x12 2-11
Check 70x12 AUX
FB4J A1 HINO032  dimensions 5+1PP+7 70x8 1PP 650 655 BU083BM CB12-8
before ordering 70x12 PRI
HINO036 11 90x18 750 750  NR CB112
FY 700 SERIES |
Ubolt UB526 24mm x 92mm x 360mm - Round Forged
70x11 AUX
DUTRO XZU SERIES HINO029 4+1PP+8 707 1PP 660 660 BU311BM CB12-6
6000 6500 7500 8500 A 20511 PRI
WITHOUT SILENT BUSHES
Ubolt UB550 18mm x 72mm x 405mm - Square Top
DUTRO XZU SERIES 70x11 AUX
6000 6500 7500 8500  ,  HINO029SB 4+1PP+8 70x8 1PP 660 660 BU763UK CB12-6
WITH SILENT BUSHES 70x11 PRI
Ubolt UB550 18mm x 72mm x 405mm - Square Top
HINOO031
RR;!A(I:I‘B‘(S)CV SUs A Canuse 9 70x10 650 650 BU482  CB38-4
MITS005
7+1PP+ 70x11 AUX
300 SERIES 817 4X4 HINO082 7+1PP+ 70x8 1PP 675 675 BU311BM
WEDGE 70x13 PRI
Ubolt UB550 18mm x 72mm x 405mm - Square Top - Check dimentions
Ubolt UB585 18mm x 72mm x 465mm - Square Top - Check dimentions

This Catalogue is for reference purposes. Not all items are stocked.

212



INTERNATIONAL / IVECO FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTto RIGHT© gysy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papT NO BOLT NO
E BOLT BOLT
(mm) (mm)
ACCO R-3250765R91
'C" ' 'E' SERIES IH001 ivendioiig 10 100x10 635 737
1980 ON
D1730 A3 IH001-11 3213382R93 11 100x10 635 737 BUO73BM CB12-6
1850D TO 2350D
4X2 6X4 1986 ON
S&TLINE IH001-12 12 100x10 635 737
$2670
T2670 Twin Steer Ubolt UB262 3/4" x 102mm x 235mm - Semi-Round Top
ACCO
'E' & 'S LINE IH002 3282804R91 9 100x13 880 880
ATKINSON
F4870 1980 ON A BU538 CB12-6
TRANSTAR
4600 F4670 4700 IHO02H 10 100x13 880 880
* check main leaf length
IH003 3281454R91 9+4 90x10 PRI 676 734  BUO76BM CB108
ATKINSON 90x12 2nd stage
3866, 3870 A2
’ Ubolt UB261 3/4" x 92mm x 285mm - Square Top - Check dimensions
Ubolt UB561 7/8" x 92mm x 240mm - Square Top - Check dimensions
ACCO 75x11 1-5
'A’ SERIES 1972 - 1975 75x12 6-8
1710 17308 1810 IH004 8+4 o6 ot 762 737 BUO72BM CB716-8
1910 2010 3070A A2 75%13 PP
'B' SERIES 1977 - 1980 1" shorter main leaf than STD (on shackle end)
3070 3072 3074 Ubolt UB260 3/4" x 76mm x 254mm - Square Top
ACCO 75x11
1800 C1840 A2 1H008 885029R91 8+5 13 686 686 BUO72BM CB716-8
TRANSTAR
4070A 1971 ON . HO14 433821C91 13+SP 100x10 650 725 BU082  CB38-8
F4270 F4370 1977 ON
4200 Ubolt UB263 3/4" x 102mm x 300mm - Square Top
ACCO
'E' 'S' LINE 100x12 PRI
3259477R91  8+1PP 787 787  BU538 -
$3300 S3600 1996 ON H013 100x10 1PP CB12-6
* check main leaf length
A3
POWERSTAR IHO15H 3250476R91  9+1PP 100x12 PRI 787 787 BU538  CB12-6
100x10 1PP
POWERSTAR
6300 6700 IHO11 9 90x13 765 765 BU544  CB459A
3 leaf parabolic replacement
IH033 SMegsapp 008 sM 635 735  BUO77BM CB12-6
100x11 2-12
4900 NAVSTAR A
Ho36 . 100x13 PRI
7+1PP 100x8 1P 635 737  BUO77BM CB12-6

This Catalogue is for reference purposes. Not all items are stocked.

2.13



INTERNATIONAL / IVECO FRONT conTiNUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTto RIGHT© gygy  GCENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papT NO BOLT NO
E BOLT BOLT
(mm) (mm)
Acco R-3259477R91
'E' SERIES A IHO16M L 3950476RO1 12 100x10 737 737
1991 ON
2350 'G' SERIES BU538  CB12-6
1995 ON
'F* SERIES IHO16MH 1653751C91 13 100x10 737 737
F215B
SINGLE & TWIN STEER Ubolt UB525 7/8" x 102mm x 255mm - Semi Round Top
x HO16P 122;‘7‘2%31 3 100x20 Atcentre 737 737 BU538  CB12-6
ACCO 2350
'D’' SERIES = :
'E' SERIES Ubolt UB522 7/8" x 102mm x 210mm - Semi Round Top
'F' SERIES
'G' SERIES  'HO16PH N/A 4 100x20 Atcentre 737 737 BU538  CB12-6
Ubolt UB525 7/8" x 102mm x 255mm - Semi Round Top
2350 'G' SERIES IH020 8 100x14 737 725 BU538  CB12-6
Twin Steer ONLY A
(Screw Pin) Later Models
2000 on Ubolt UB522 7/8" x 102mm x 210mm - Semi-Round Top - Check dimensions
Ubolt UB525 7/8" x 102mm x 255mm - Semi-Round Top - Check dimensions
N’ SERIES IHO18 54010-Z-5069 8 70x11 625 625 BU138BM CBS38-6A
N1610 & N1630 CMA86 A
1983 ON
Ubolt UB230 5/8" x 72mm x 190mm - Square Top
5401025269
UD020 5401002501 7 70x11 650 650 BU138BM CB38-4
N* SERIES Ubolt UB231 5/8" x 72mm x 165mm - Square Top
N1650 A
CMF87 1986 ON
UD024 8 70x11 650 650 BU138BM CB38-4
Ubolt UB230 5/8" x 72mm x 190mm - Square Top
IVECO EAGLE
9200 2010 IHO37 9 100x12 750 750 O.EONLY CB12-6
IVECO EAGLE 9900 TBA 12 100x11 630 730 BU138BM CB716-6

This Catalogue is for reference purposes. Not all items are stocked.

2.14



INTERNATIONAL / IVECO REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHTw© gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paptNO BOLT NO
E BOLT  BOLT
(mm) (mm)
S & TLINE IH005C 2 MAIN LEAVES 13 75x13 770 770
SINGLE REAR DRIVE BUO75BM CB12-8
SUSPENSION D
326156R91 75x13 1-11
1979 ON IHO05 1 MAIN LEAF 13 75%11 1213 770 770
ACCO 1850E RADIUS LEAF = 673mm
Ubolt UB488 24mm x 75mm x 560mm - Round Forged
ACCO 2150
1710 1730 IH009 3235087R91 13 75x13 762 762 BUO75BM CB12-8
1810 1910 D
'C' SERIES RADIUS LEAF = 648mm
SINGLE AXLE DRIVE
Ubolt UB438 26mm x 75mm x 560mm - Round Forged
S & T LINE HEAVY DUTY
ACCO 3235033R91
4 75x10 485 485 N/R CB38-4
AUXILLARY SPRING E  IHoO7H 473725C91 X / 3
for IH009 & IH009C FIT PAIRS
ACCO
C1800 C1810 C1820
C1840
235051R91 1 75x11 685 85 BUO74BM CB716-
D1710 D1810 D1820 A 1HO12 32350 0 X 6 6
D1830 D1910
SINGLE AXLE DRIVE
1.H.C IHO13 3250974R91 9 90x12 585 635 N/R CB12-6
FOUR SPRING G
SUSPENSION
Ubolt UB573 3/4" x 90mm x 380mm - Semi-Round Check as maybe 7/8"
ACCO
I.H.C SIX ROD H IH023 9 100x20 760 760 N/R CB12-10
SUSPENSION
N' SERIES 70x11 AUX
N1630 CMA86 1983 ON 8+1PP+ 70x9 1PP
N1650 CMA87 1988 ON A1 UD008 7+1PP 70x11 PRI 650 650 BU138BM CB12-8
N1650 CMF87 1989 ON 70x4 1PP
N1750 CPA87 1989 ON Ubolt UB548 18mm x 72mm x 500mm - Square Top
ACCO 2350E Check U-bolt
ROCKWELL | ROCKO007 size before 1" 90x16 750 750 N/A CB12-10
AC6P ordering
SUSPENSION Ubolt UB555 27mm x 92mm x 360mm - Square Top

ROCKWELL SUSPENSIONS - refer to Multi-Leaf Truck Springs ROCKWELL for futher details.

HENDRICKSON SUSPENSIONS - refer to Multi-Leaf Truck Springs HENDRICKSON for futher details.

REYCO SUSPENSIONS - refer to Multi-Leaf Truck Springs REYCO for futher details.

This Catalogue is for reference purposes. Not all items are stocked.

2.15



s
| (==
>

"\
SUSPENSION SUPPLIES AUSTRALIA

Japanese Truck Suspension
NO MORE BUMPS...

Here at SSA we regularly hear from
drivers of Japanese trucks to do with
the problems they have with the
truck's suspension. The problems
presented can feature in Isuzu,
Mitsubishi, Hino, Toyota, UD 'trucks
and often it worsens as the truck
suspension ages on changes from its
originally intended use or load.
Drivers typically say, "It's too rough a
ride" or "It throws me around in the
cabin every time | hit a bump or a dip”.

Carry your load with more comfort. SSA have developed a range of
solutions to improve the ride and
. . performance of Japanese truck
Suspensqanupplles suspensions but first, let us look at the

most common causes of sagged or
sales@ssa.com.au badly performing suspensions for

PH 1800 630 411 these trucks.

Visit our YouTube channel




ISUZU FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTwo RIGHTt gygy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE paptNO BOLT NO
E BOLT  BOLT
(mm) (mm)
ISUZUO019 used Pre 2003 as
MULTILEAF & CONVERSION
FOR 3 LEAF PARABOLIC 80x13 1.7
in following models ISUZU019 7+2 80x16 8.9 735 735 BU214BM CB863
FTR32 FTR34
FTS750 FTS33 A2
FVR11 14
FVZ1400 FVZ13 Ubolt UB543 2WD - 7/8" x 82mm x 245mm - Square Top - Check dimensions
FVR900 FVR13 Ubolt UB510 4WD - 7/8" x 82mm x 430mm - Square Top - Check dimensions
FVR950 FVR23 33 Ubolt UB553 4WD - 7/8" x 82mm x 430mm - Square Forged - Check dimensions
FTK Alternative 80x12 14
FTR800 FTRA2 ISUZUO13M  gpring 8+4PP 80x11 58 735 735
FTR11 AFTER 1996 A TsGzioramn RETLACES 80x11 4pP BU214BM CB863
FVD950 X PARABOLIC
FVR11 FVR12 FVR13 SUzZUOTOe 1511106992 8+5pPP 80x12 735 735
tronger for 4x4
FVR900 FVR950 Ubolt UB232 3/4" x 82mm x 230mm - Square Top
PARABOLIC OPTION ,
FTK ISUZU007P 3+Spacers  oOx20/21 740 740  BU214BM
FTR800 FTR12 Taper
FTR11 AFTER 1996
FVD950 Ubolt UB543 2WD - 7/8" x 82mm x 245mm - Square Top - Check dimensions
FVR11 FVR12 FVR13 Ubolt UB510 4WD - 7/8" x 82mm x 430mm - Square Top - Check dimensions
FVR900 FVR950 Ubolt UB553 4WD - 7/8" x 82mm x 430mm - Square Forged - Check dimensions
SPG 540 1975 - 1978
GVR GVD ISUZU001 1511100730 11 80x12 800 800
Prime Movers 2003 ON

ISUZU001 used Post 2003 as
MULTILEAF and CONVERSION
FOR 3 LEAF PARABOLIC in
following models

FVD950HD FVD23 A |suzuoo1 1511100730 11 80x12 800 800
FVR950HD FVR23
FVL1400 FVL23
FVM1400 FVM13 23
FVY1400 FVY23

BU214BM CB865

FVZ1400 FVZ23 Note: OE U-bolts may be forged, but not required
FXD FXR FXZ 77 Ubolt UB543 7/8" x 82mm x 245mm - Square Top
PARABOLIC OPTION

FVD950HD FVD23
FVR950HD FVR23

FVL1400 FVL23 ISUZU001P 4 8?‘:;2 32 800 800 BU214BM CB865
FVM1400 FVM13 23
FVY1400 FVY23
FVZ1400 FVZ23
FXD FXR FXZ 77 Ubolt UB543 7/8" x 82mm x 245mm - Square Top
ISUZU005
SPZ440 1974 - 1980 A Canuse 1511102852 8 80x16 800 800 BU214BM CB865
SPZ451 1980 - ON ISUZU001
JBR500 JCR360 JCR420
JCR500
JCS420 4x4
a0 PRI A IsuzZuooz 1511102210 10 70x11 650 650 BU138BM CB461

BEFORE 1986
FTR11 BEFORE 1996

FTS500 FTS700 FTS12 Ubolt UB230 5/8" x 72mm x 190mm - Square Top

This Catalogue is for reference purposes. Not all items are stocked.

2.16



ISUZU FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTwo RIGHTt gygy  CENTRE
MODEL P PARTNO  REFNO LEAVES  SIZE mm) CENTRE CENTRE paptNO BOLT NO
E BOLT BOLT
(mm) (mm)
FVR 1989 ON ISUzUOO7H [ 101130-2640 8 80x12 700 700  BU214BM CB865
FSR32 A L-151130-2650 %
FSR34 late models
Ubolt UB543 7/8" x 82mm x 245mm - Square Top
R-151110-5120
CXZ 1980 ON A ISUZUOO9H L-151110-51 10 80x13 725 725  BU214BM CB865
CXG CXH TWIN STEER 151110-5141
SHZ 1980 - 1983 Ubolt UB543 7/8mm x 82mm x 245mm - Square Top
FSR450 MEDIUM 1992 ISUZU038 8 70x10 600 600 BU083BM )2)822235
FRRS500 LONG 2000 ISUZU003 |0 13092% 9 70x10 600 600 BUO83BM B)CB635
SBR SERIES 1970 - 1986 2x CB Spacer
SCR SERIES 1980 - 1988
FRR500 FRR550 * C/Bolt adaptor available if spring has wedge/spacer at spring base.
FRR550S FRR33 Option A) no shockmount / wedge / spacer
To Chassis # 3531227 Option B) shockmount / wedge / Spacer
FSR BEFORE 1992 Note: Check main leaf dimensions - could be ISUZU014
F§R450 F:RSOO Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check dimensions
FSRS50 FSR650 Ubolt UB235 5/8" x 72mm x 190mm - Semi-Round Top - Check dimensions
FSR450 1972 - 1985 A) CB38-6
FSR500 1972 - 1985 ISuzUo14 (1130000 10 70x11 13 675 675 BUOS3BM B)CB635
FRR500 FRR550 2x CB Spacer
FRR550S FRR33
From Chassis # 3531228 i . . .
FRR34 * C/Bolt adaptor available if spring has wedge/spacer at spring base.
FRR 4 LEAF PARABOLIC Option A) no shockmount / wedge / spacer
REPLACEMENT Option B) shockmount / wedge / Spacer
FSS500 FSS550 4x4 Note: Check main leaf dimensions - could be ISUZU003 or ISUZU040/ISUZU050P
1996 ON Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check dimensions
Ubolt UB235 5/8" x 72mm x 190mm - Semi-Round Top - Check dimensions

PARABOLIC OPTION
4 LEAF PARABOLIC 70X18
FSR450 1972 - 1985 ISUZU014P 4 Taper 675 675 BUO83BM
FSR500 1972 - 1985 P
FRR500 FRR550 A

FRR550S FRR33
From Chassis # 3531228
FRR34

FSS500 FSS550 4x4
1996 ON

Note: Check main leaf dimensions - could be ISUZU003 or ISUZU040/ISUZU050P

Note: Early FSS Models may require extra packers. Please check number of leaves & pack height

Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check dimensions

Ubolt UB235 5/8" x 72mm x 190mm - Semi-Round Top - Check dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.17



ISUZU FRONT conTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTwo RIGHTt gygy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papTNO BOLT NO
E BOLT BOLT
(mm) (mm)
FSR650 LONG R- 151130-1561 70x11 1
02/1992 - 1996 A2 ISUZUO31 " o0 e 7+3PP 70x13 2.7 675 675 BU083BM CBS916-6
FSR12K 70x8 3PP
FSR11 FSR12 ISUZU040 9+2PP 70x11 650 650 BU083BM CBS916-6
FSR700/800 FSR34
FRR550 2005 A
FRR600 FRR700 FRR34 Note: Check main leaf dimensions - could be ISUZU003 or ISUZU040/ISUZU050P
Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check dimensions
Ubolt UB235 5/8" x 72mm x 190mm - Semi-Round Top - Check dimensions
PARABOLIC OPTION ISUZU050P 4 70X18 650 650  BUO083BM
FSR11 FSR12 Taper
FSR700/800 FSR34 A
FRR550 2005 Note: Check main leaf dimensions - could be ISUZU003 or ISUZU040/ISUZU050P
FRR600 FRR700 FRR34 Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check dimensions
Ubolt UB235 5/8" x 72mm x 190mm - Semi-Round Top - Check dimensions
70x12 1-6
ISUZU034 6+1+2PP 70x18 7 675 675 BUO83BM CB461
A 70x12 2PP
FS8550 4x4 2008 ISUZU034H 11 7011 1-4 675 675 BUO0S3BM CB635
70x10 5-11
Ubolt UB230 5/8" x 72mm x 190mm - Square Top - Check dimensions
Ubolt UB966 5/8" x 72mm x 270mm - Square Top - Check dimensions
BU745UK
R-89417-62451 . )
NHK NHR NKR A ISUZUO017H 6 60x10 570 570 :TJDs.l,:Itet(\)/r:sm CB38-4
Ubolt UB964 9/16" x 62mm x 120mm - Square Top
BU748UK
A 1SUZUO11 8 70x9 570 570 ~ 42MMeyes, cpag4
NPR57 58 59 can use
NPR66 Pre 11/1993 BU488x6
Ubolt UB967 9/16" x 72mm x 125mm - Square Top - Check dimensions
Ubolt UB505 5/8" x 72mm x 130mm - Square Top - Check dimensions
70x10 1-7
7+1PP+SP  70x8 1PP
BU488
ISUZU035 +WEDGE 70x8 SP 650 650 (tomm)
NPR70 NPR71 NPR75 A 70x7 WEDGE (2xF.O.F) CB38.4
2 leaf parabolic conversion 70x10 1-8 BU488H :
NPR66 NPR200 8+1PP+SP  70x8 1PP (16mm)
NPR400 ISUZU035H +WEDGE 70x8 SP 650 650 (8xR.O.F.)
NQR 70X7 WEDGE
NNR85 NNR200 NOTE: Must Confirm Main Leaf Length. Earlier Models Can Be 570mm
Ubolt UB236 9/16" x 72mm x 165mm - Square Top - Check dimensions
Ubolt UB231 NQRcanbe5/8"  5/8" x 72mm x 165mm - Square Top - Check dimensions
BU488
PARABOLIC OPTION (16mm)
70X16 (2xF.O.F.)
NPR66 NPR70 NPR71 A ISUZU035P 4 Taper 650 650 BU488H CB38-4
NPR75 NPR200 (16mm)
NPR400 (8xR.O.F.)
NQR NOTE: If Replacing 2 Leaf Parabolic A Leaf May Need To Be Removed
NNR85 NNR200 Ubolt UB236 9/16" x 72mm x 165mm - Square Top - Check dimensions
Ubolt UB231 NQRcanbe5/8"  5/8" x 72mm x 165mm - Square Top - Check dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.18



ISUZU FRONT conTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTwo RIGHTt gygy  CeENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE paptNO BOLT NO
E BOLT  BOLT
(mm) (mm)
NPS70 71
NPS250 ISUZU021H 5+2 70x101-5 600 600 BU716UK CB861
2000 - 10/2007 A2 70x16 6-7
NPS59 66 1993 - 1995
NPS66 70 71 Ubolt UB436 9/16" x 74mm x 220mm - Square Top - Check dimensions
1996 - 10/2007 Ubolt UB432 9/16" x 73mm x 285mm - Square Top - Check dimensions
BU488
50MM LIFTED OPTION 70x111-2 E;Sn,;rg),:)
NPS70 71 ISUZU021SP 10+1PP 70x08 3-10 600 600  oscen | CB861
NPS250 70x16 11 (16mm)
2000 - 10/2007 A2 @xROF)
NPS59 66 1993 - 1995 NOTE: Long Travel Shocks are required. Contact us for more info
NPS66 70 71 NOTE: This spring suits vehicles using super single wheels
1996 - 10/2007 Ubolt UB436 9/16" x 74mm x 220mm - Square Top - Check dimensions
Ubolt UB432 9/16" x 73mm x 285mm - Square Top - Check dimensions
70x6 PP
NPS65 45-155 ISUZU041S 1PP+5+1 70x10 1-5 635 665 ?5488
NPS250 4x4 70x16 6 (2(x FrT]OrT.]lZ.)
SINGLE/CREW CAB BU48SH CB861
NPS75 A 70x6 PP (16mm)
NPS300 4x4 ISUZU041SH 1PP+6+1 70x10 1-6 635 665 (8xR.O.F.)
SINGLE/CREW CAB 70x16 7
10/2007 ON Ubolt UB436 2 x PIS - 9/16" x 73mm x 220mm - Square Top - Check dimensions
Ubolt UB433 2 x D/S - 9/16" x 73mm x 320mm - Square Top - Check dimensions
PARABOLIC OPTION BU48S
NPS65 45-155 (16mm)
NPS250 44 ISUZU041P 4 70x16 635 665 o) CB86
SINGLE/CREW CAB A Taper
(16mm)
NPS75 (8xR.O.F.)
NPS300 4x4
?{:ggLE/N CREW CAB Ubolt UB436 2 x PIS - 9/16" x 73mm x 220mm - Square Top - Check dimensions
! Ubolt UB433 2 x D/S - 9/16" x 73mm x 320mm - Square Top - Check dimensions

50MM LIFTED OPTION
NPS75 4X4

ISUZU041HSPD-S

ISUZU041HSPN-S

BU466
(16mm)
(2xF.O.F.)
BU488H
(16mm)
(8x R.O.F.)

10 70x10 1-2 635 695

70x8 3-10 CB861

NOTE: Long Travel Shocks are required. Contact us for more info
NOTE: This spring suits vehicles using super single wheels

Ubolt UB436

2 x PIS - 9/16" x 73mm x 220mm - Square Top - Check dimensions

Ubolt UB433

2 x D/S - 9/16" x 73mm x 320mm - Square Top - Check dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.19



ISUZU REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHTw© gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paptNO BOLT NO
E BOLT  BOLT
(mm) (mm)
FRR500 FRR550 70x10 AUX
FRR550S FRR33 ISUZU004  R-1513003320  +1PPY 70x7 1PP 650 650
from CH# 3537438 L-151300-332 8+4PP 70x11 PRI
FSR450 FSR500 Shosk Ubol 70x7 4PP
FSR650 FSR700 FSR33 e oo be 20510 AUX
STD CAB 5/8" instead of 8+1PP+ 70x7 1PP
*check main leaf dimensions ISUZUO04H 34" on some 9+4PP 70x11 650 650 BUOBIBM (B394
A1 early models x11PRI
FSR11 FSR12 v : 70x7 4PP
from CH# 3531228 Check Ubolt
FSS500 FSS12 lngth on . 7%}2?1‘;}:(
FSS500M FSS12 4x4 ISUZUOO4XH x4 models. 10+4PP 20511 PRI 650 650
FSS550 4x4 FSS33 70x7 4PP
zgi*ggi:zg 12;2 ’ 13:: Ubolt UB504 5/8" x 72mm x 350mm - Square Top - confirm all Ubolts for 4x4s
Ubolt UB559 3/4" x 72mm x 420mm - Semi-Round Top - confirm all Ubolts for 4x4s
FSR32 / FSR750
FTS750 FTS33 4x4
FSR700 FSR33 crew cab
*check main leaf dimensions
FTR11 FTR12 ISUZUO0E 10000008 949 SoZAX 710 710 BUBS9BM CB12-10
from CH# 3537437 A1
FTR32 *non h/duty suspension
FTR33
FTR800 FTR850
5;29322223 axd Ubolt UB547 24mm x 82mm x 570mm - Semi-Round Forged - Check dimensions
Ubolt UB557 3/4" x 82mm x 460mm - Square Top - Check dimensions
FTR32 *with h/duty suspension 100x10 1-2
FVR11 FVR14 100x11 3-6
FVR900 FVR13 100x10 7
FVR950 FVR23 100x12 8-11
FVR950HD FVZR23 N ISUZU008 7+8+5PP 100x11 12 710 930 BU216BM CB863
FVR900 FVR950 FVR33 100x12 13-14
SPG540 1975 - 1978 100x11 15
SPG541 1980 - 1982 100x10 16-20
GVR Prime Mover-single drive
Ubolt UB592 24mm x 102mm x 470mm - Semi-Round Forged
FTS500 FTS700 FTS12
FVM1400 6 ROD FVM13
FVM23 6 ROD FVZ1400
FVZ13 6 ROD I ISUZU025  151310-7051 10 80x20 750 750 NR CB12-8
*check dimensions - could be B X g
ISUZUO010
FVZ13 FVZ23 6 ROD
385 CXZ GIGA
FVR1400A AGITATOR S?JSZH
FVZ1400 FVZ13 6 ROD I ISUZU010 in some 8 90x20 750 750 N\R CB464
check dimensions - could be applications
ISUZU025
Ubolt UB576 27mm x 92mm x 365mm - Round Forged
FSR450 FSR500 FSR650 ISUZU016 8+10 70x10 AUX 650 760 BU083BM CB12-12
FSR11 FSR12 FSR33 to N 70x11 PRI
CH# 3531227 TBA 5/8" x 400mm x 70mm - Semi-Round

This Catalogue is for reference purposes. Not all items are stocked.

2.20



ISUZU REAR conTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTw©o RIGHTw gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papTNO BOLT NO
E BOLT  BOLT
(mm) (mm)
80x12 AUX
FTR900 9+1PP 80x10 1PP
CHECK SPRING SPEC N ISUZU023 8+1PP 80x15 PRI 710 820 BU859BM CB12-12
80x13 1PP
ISUZU012 BUO83BM
Uses greaseable (2xF.OR)
25mm pin and bi- BU750UK
NKR 55 metal bush F.O.F. 5+1PP+6 778"?1";’; 625 625  oroptional CB716-6
SINGLE & DUAL WHEELS and urethane or X BU488H
NPR57 58 A1 silent block (16mm)
NPR59 bushes R.O.R. (8xR.OR)
NPR66 PRE 11/1993
NOTE: BU083BM bi-metal bush is fitted to F.O.F. of new springs & is not contained in BU750UK kit. If
replacing bushes only, BU083BM needs to be ordered in addition to the BU750UK urethane kit.
Ubolt UB963 5/8" x 92mm x 320mm - Square Top
89131 70x10 AUX
NPR59 ISUZU028 31810 5+1PP+5 70x11 PRI 630 630 BU488 CB12-16
(16mm)
(2xF.O.R)
A1 89131 BU488H
70x10 AUX (16mm) :
NPR66 1994 ON ISUZU028H 31810 6+1PP+6 70x11 PRI 630 630 (BxROR) CB12-16
NPR71 1998
Ubolt UB963 5/8" x 92mm x 320mm - Square Top
70x11 PRI
NKR57 NKR58 A2 ISUZU018H 3+2 600 600 BU748UK CB38-4
70x16 2nd stage
SINGLE & DUAL WHEELS
Ubolt UB966 5/8" x 72mm x 270mm - Square Top
NKR 70x14 PRI
47 55 57 A2 ISUZU030 3+4 70x18 2nd stage 650 650 BU204BM CB12-6
1985-1987
Ubolt UB966 5/8" x 72mm x 270mm - Square Top
BU489
(18mm)
NPR 58
can use 70x11 (2xF.O.R))
200 250 300 A1 I1SUZU027 ISUZU028 1+4PP+4 70x12 630 630 BU488H CB38-4
1985 ON
(16mm)
(8xR.OR.)
NKR ISUZU029 242 70x12 PR 610 500 BU748UK CB12-6
150 200 250 A 70x10 2nd stage
1993 ON
Ubolt UB558 3/4" x 82mm x 570mm - Square Top
NKR BU489
2000 ON 70x10 AUX (1 8mm)
A1 ISUZU032 4+1PP+4 70x8 1PP 600 600 &FOR) cpsioM65
Replaces genuine spring with 70x12 PRI BU488H
single leaf parabolic auxillary (16mm)
(8xR.OR.)

This Catalogue is for reference purposes. Not all items are stocked.

2.21



ISUZU REAR conTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTwo RIGHTt gygy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE paptNO BOLT NO
E BOLT  BOLT
(mm) (mm)
ISUZU022 8+7 778;‘?1’*;’; 650 650
NPS59 NPS300 70x8 AUX BUO083BM CB394
NPS66 NPS71 A1 1SUZU022H 8+8 70x11 PRI 650 650
NPS300 4x4 2002 Ubolt UB963 5/8" x 72mm x 320mm - Square Top - Check dimensions
Ubolt UB550 18mm x 72mm x 405mm - Square Top - Check dimensions
70x10 AUX
ISUZU042 riper 706 e 650 650  BUABS
6+8PP 70x11 PRI (18mm)
mm
NPS75 N 70x12 8PP (2xFOR.) CB12-12
70x10 AUX
BU488H
NPS300 ISUZU042H 6+1PP+ 70x6 1PP 650 650  (16mm)
4x4 10/2007 ON 7+8PP 70x11 PRI
(8xR.O.R.)
70x12 8PP
Ubolt UB529 18mm x 72mm x 455mm - Semi-Round Top - Check dimensions
Ubolt UB585 18mm x 72mm x 465mm - Square Top - Check dimensions
Use these ubolts for Vehicles using Ubolt UB583 18mm x 72mm x 500mm - Semi-Round Top - Check dimensions
above springs & 40mm Spacer Block  po|t UB548 18mm x 72mm x 500mm - Square Top - Check dimensions
70x10 AUX
AB9653562M00 0K 1P BU760UK
ISUZU039 8980250510 5+1PP+7+SP 680 680 BU489
NPR66 8980799020 70x12 PRI (18mm)
NPR200 2000 A1 70x8 5P (xFOR) CBT16-8
NPR70 NPR71 7708‘15 AUX BU488H
NPR200 Medium ISUZU039H 6+1PP+B+SP % 2‘:; 680 680  (16mm)
NPR300 X (8x RO.R.)
NQR450 70x8 sp
NPR 400 2002 Ubolt UB504 5/8" x 72mm x 350mm - Square Top - Check dimensions
CREW / SINGLE CAB Ubolt UB582 5/8" x 72mm x 400mm - Square Top - Check dimensions
Ubolt UB962 3/4" x 72mm x 380mm - Semi-Round - Check dimensions
Ubolt UB550 18mm x 72mm x 405mm - Square Top - Check dimensions
70x10 AUX
70x8 1PP
A1 ISUZU043 6+1PP+8+SP  70x12 MAIN 650 650 BU760UK
BU489
NPR 45/65 70x12 27 (18mm)
70x8 sp
CREW / SINGLE CAB 70x10 AUX (étlig;ﬁ) CB716-8
NQR450 70x8 1PP (tomm)
2008 ON A1 7+1PP+9+SP  70x12 MAIN 650 650
8x R.O.R.
NPR 300 ISUZU043H 70x12 2.8 (8x )
NPR 400 70x8 SP
* Check for sway bar as centre bolt may need to be left long
Ubolt UB550 18mm x 72mm x 405mm - Square Top - Check dimensions
Ubolt UB559 18mm x 72mm x 420mm - Semi-Round - Check dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.22



KENWORTH FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO  MATERIAL LEFTto RIGHT© gygy  GCENTRE
MODEL P PARTNO REFNO LEAVES SIZE (mm) CENTRE CENTRE paRT NO BOLT NO
E BOLT BOLT
(mm) (mm)
100x13 1-9
€500 E KEN814 K223-814 11 100x10 10.11 760 760 N/A CB12-6
1ST STEER
S/M ON M/L 14
IT-\;IV?SSIT(; SSE A KEN700 2ND STEER  +SHOCK 100x10 813 610 BU0DB2  CB12-8
S/IMON S/P & MOUNT
SIM
SAR
54T A KEN825 K223-825 12 100x9 584 737 BU082  CB12-6
FRONT AXLE
K223-833
K100CR 54T AXLE 402562 14 100x9 664 664 BU0OS2  CB12-8
K123 K125 KEN833
402563
W900 CAB OVER A
Wo25 6.0T AXLE 151300-3332 100x10 1-2
STEER AXLE KEN931 151300-1721 14 100x9 3 -14 664 664 BU082 CB12-8
54T 6.0T
Ubolt UB263 3/4" x 102mm x 300mm - Square Top - Check dimensions
PARABOLIC OPTION
SUIT ROCKWELL FF921 2 PP - 9mm
K KEN778P K223-778 3 leaf - 16mm 100 664 664 BU082 CB393
5.4T 2 PP - 16mm
FRONT AXLE
T900 T904 T950 A KEN950 K223-1197 10 100x13 1- 5 685 685 BU0B2  CB12-6
7.0T AXLE 100x10 6-10
PARABOLIC OPTION 100x20
T900 T904 T950 K KEN1125P  HK48110-2020C 3 Taper 690 690 BU082
K100 K223-1087 1 100x10 756 7 BU082 B12-6
6T A KEN1087 310 3 00x 56 0 C
FRONT AXLE
Ubolt UB263 3/4" x 102mm x 300mm - Square Top - Check dimensions
W900 6.0T AXLE K223-1089 12 100x10 660 890 BU0S2  CB12-8
KEN1089
w923
w924 A
STEER AXLE 66T AXLE K223-1054 14 100x10 660 890 BU082  CB12-8
0T 66T KEN1054
Ubolt UB264 3/4" x 102mm x 335mm - Square Top - Check dimensions
K100ER 6.3T AXLE
HK48110-1440 12 100x11 813 813 BU082  CB12-8
SET BACK AXLE KEN1118
1984 - 1995 Ubolt UB264 3/4" x 102mm x 335mm - Square Top - Check dimensions
L700 L710 6.5T AXLE 100x13 1-2
T300 T480 kEN1160 K226-1160 12 100x11 512 813 813 BU082  CB12-8
T600 T601 A
T604 T650 Ubolt UB263 3/4" x 102mm x 300mm - Square Top - Check dimensions
K104 6.9T AXLE
STEER AXLE KEN1158 HK48110-2190 13 100x11 813 813 BU082 CB12-8
6.3T 6.07 NOTE: Check main leaf meaurement. Can be KEN608
65T 6.9T Ubolt UB264 3/4" x 102mm x 335mm - Square Top - Check dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.23



KENWORTH FRONT cONTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO  MATERIAL LEFTw© RIGHTw© gygy  cENTRE
MODEL P PARTNO REFNO LEAVES SIZE ;mm)  CENTRE CENTRE papTNO BOLT NO
E BOLT  BOLT
(mm) (mm)
PARABOLIC OPTION
K100ER
SETBACK AXLE KEN1073P  K223-1073 3 100x22 813 813  BU082 CB393
1984 - 1995 Taper
L700 L710
T300 T600 K
SUIT ROCKWELL FF932 6.0T
FRONT AXLE NOTE: Check leaf width at centre bolt. 80mm wide O.E. only
T400 T401 T450 T600 NOTE: Does not suit T650 series 2 5.4T (HD) and 6.0T axle
T601 T604 T650 UB262 3/4" x 102mm x 235mm - Semi Round - Check dimensions
6.0T 6.6T UB263 3/4" x 102mm x 300mm - Square Top - Check dimensions
T408 SAR 6.6T AXLE 10 100x13 1.3 685 810 BU0S2  CB12-8
T409 SAR NOTE: Check axle rating. Can be KEN608
2011 Onwards Ubolt UB273 7/8" x 102mm x 270mm - Square Top - Check Dimensions
T608 PLATINUM
2008 Onwards
J408 SAR 7 0T AXLE HK48110-3370 1 118(?;‘11341_'13; 685 810 BU0B2  CB12-8
T409 SAR A KENG608
2011 Onwards
T650/T658 Series 2 NOTE: Check axle rating. Can be KEN409
Check main leaf dimension.
Can be KEN1158 Ubolt UB273 7/8" x 102mm x 270mm - Square Top - Check Dimensions
T608 PLATINUM
2008 Onwards
T408 SAR 100x23
2008 Onwards 7.0T AXLE HK48110-3370 3 Taper 685 813 BU082 CB12-8
T409 SAR A KEN3370P
2011 Onwards
T650/T658 Series 2
Check main leaf dimension. NOTE: Check axle rating. Can be KEN409
Can be KEN1158 Ubolt UB273 7/8" x 102mm x 270mm - Square Top - Check Dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.24



KENWORTH REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHTw© gygy  ceNTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paptNO BOLT NO
E BOLT BOLT
(mm) (mm)
K223-888 7L
K223-1100 7L
BIG SIX KEN1112 ool 7 130x20 750 750  NR NIB
LOW MOUNT 17T H K223-1200 6L 17T
SUSPENSION Kezs120n 7L
Note: OE U-bolts may be forged, but not required
Ubolt UB614 32mm x 133mm x 305mm - Square Top
BIG SIX
HIGH MOUNT | KEN1112H 7 130x20 750 750  NR NIB
SUSPENSION
Ubolt UB614 32mm x 133mm x 305mm - Square Top
K223-+890 7L 17T
BIG SIX K223-894 8L
K223-1112 7L 17T
EXTRA LOW MOUNT 21T H  KEN1116 iion 8 130x20 800 800 N/R NIB
SUSPENSION K3.2990 Bl
Ubolt UB575 32mm x 133mm x 355mm - Square Top
BIG SIX
HIGH MOUNT | KEN1116H 8 130x20 800 800 N/R NIB
SUSPENSION
Ubolt UB575 32mm x 133mm x 355mm - Square Top

ROCKWELL SUSPENSIONS - refer to Multi-Leaf Truck Springs ROCKWELL for futher details.

HENDRICKSON SUSPENSIONS - refer to Multi-Leaf Truck Springs HENDRICKSON for futher details.

REYCO SUSPENSIONS - refer to Multi-Leaf Truck Springs REYCO for futher details.

LEADER FRONT
. DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTw©o RIGHTw pysy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paptNO BOLT NO
g BOLT BOLT
(mm) (mm)
A6 - 208
A6 - 306 LEADO001 6+7 75x13 AUX 622 724 BUO74BM CB716-8
A2 75x10 PRI
A8 - 208
A8 - 306
Ubolt UB260 3/4" x 76mm x 254mm - Square Top

ROCKWELL SUSPENSIONS - refer to Multi-Leaf Truck Springs ROCKWELL for futher details.

HENDRICKSON SUSPENSIONS - refer to Multi-Leaf Truck Springs HENDRICKSON for futher details.

REYCO SUSPENSIONS - refer to Multi-Leaf Truck Springs REYCO for futher details.

This Catalogue is for reference purposes. Not all items are stocked.

2.25



MACK FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTw©o RIGHTw gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papTNO BOLT NO
E BOLT  BOLT
(mm) (mm)
BUO76BM
FRONT EYE
All 'F' & 'R' Models 'L‘J"F'fég oAD
with slipper type springs c1 MACKO001 2QK3232 11 90x10 640 768 MP276 CB12-6
includes LOWER
R600 & FIR700 PAD REAR
END
Ubolt UB261 3/4" x 92mm x 285mm - Square Top
CH FLEETLINER
CRUISELINER
MBR MCR MIR MACKO002 2QK3348 15 90x10 640 750
R600 R700 SUPERLINER BUO76BM
1980-1985 FRONT EYE
CB12-8
SUPERLINER 2003 ON A BU141
MHR ULTRALINER 1986 REAR EYE
ON MACKO002H 2QK3348 16 90x10 640 750
CLR TITAN 1990 ON
TRIDENT CLS MACK002H s g —
MUST USE CB392 Ubolt UB266 3/4" x 92mm x 280mm - Round Top - Check dimensions
* check Ubolt dimensions Ubolt UB261 3/4" x 92mm x 285mm - Square Top - Check dimensions
PARABOLIC OPTION
CRUISELINER
MBR MCR MIR 90x23 BUO76BM
R600 R700 1980-1985 MACKO03P 2QK492 3 Taper 640 750 BU141 CB393
SUPERLINER 2003 On K 1 x EACH
MHR ULTRALINER 1986 On
CLR TITAN 1990 On
CLS TRIDENT 16L Ubolt UB266 3/4" x 92mm x 280mm - Round Top - Check dimensions
QUANTUM 2003 Ubolt UB261 3/4" x 92mm x 285mm - Square Top - Check dimensions
BUO76BM
R600 VALUELINER MACKO004  2QKX470M 10 90x13 940 gao FRONTEYE cpiog
1986-1990 A BU141
* check main leaf length REAR EYE
Ubolt UB261 3/4" x 92mm x 285mm - Square Top
“R700 VALUELINER
1989-1994 BUO76BM
3 leaf parabolic replacement MACKO005M 12 90x13 940 g20 FRONTEYE cpyog
A BU141
CHR SELECT 1994 ON REAR EVE
METRO-LINER 1997
* check main leaf length Ubolt UB261 3/4" x 92mm x 285mm - Square Top
METROLINER 7 iy socs
L 1997 MACKO05P o 3 940 810 BU141 CB399
R700 VALUELINER - Taper 1 x EACH
546KL"
1989-1994
MIDLINER A MACKO006M 11 90x13 870 870 BU274BM CB12-8
G260 Ubolt UB261 3/4" x 92mm x 285mm - Square Top
2QK4139/
25194841 (2L) 100x20
PARABOLIC OPTION MACKO08P  2aK4135/ 3 665 670 BU972
TRIDENT 25194809 (3L) Taper
METROLINER A 22018994 (3L)
CLR NOTE: CLX Model - Clip on Front of Spring must be removed
Ubolt UB261 3/4" x 92mm x 285mm - Square Top

This Catalogue is for reference purposes. Not all items are stocked.

2.26



MACK REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHT®© gygy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papTNO BOLT NO

E BOLT  BOLT

(mm) (mm)

RSX C MACK3115 4QK3155 12 130x20 770 770 NR CB112
Camel Back
50"
Camel Back C MACK4003 4QK4003 10 100x20 725 725  NR CB12-10
HEAVY WEIGHT
44,000LB
55"
Camel Back C MACK4006 4QK4006 11 100x20 775 775 NR CB12-10
HEAVY WEIGHT

This Catalogue is for reference purposes.

227

Not all items are stocked.



MAZDA FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFT©o RIGHT© gygy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papTNO BOLT NO
E BOLT BOLT
(mm) (mm)
T SERIES GVM 4495 KG
T3500 2wD-2 TONNE
WC87 WC93 WC94 A MAZDAO001 8 70x7 550 550 BU751UK CBS38-6A
2 TONNE
WT75 WT76
2 TONNE Ubolt UB505 5/8" x 72mm x 130mm - Square Top

T SERIES GVM 6000 KG

T SERIES GVM 7202 KG

T3500 2wD-2 TONNE MAZDAO0O3M Medium Duty 8 70x8 550 550 BU751UK CBS38-6A
T3500 2wD-3 TONNE

T3500 2wD-4 TONNE

T4100 2WD-4 TONNE A
WC89 3 TONNE

WC90, WC92 4 TONNE

WD80 4 TONNE MAZDAO003 Heavy Duty 10 70x8 550 550 BU751UK CBS38-6A
WT76 3 TONNE

WT77 WT78 WT79 WT80

4 TONNE Ubolt UB505 5/8" x 72mm x 130mm - Square Top
73500 4xa a3 MAZDA0O? 8 70x8 600 650 BU751UK CB38-4
Ubolt UB505 5/8" x 72mm x 130mm - Square Top

This Catalogue is for reference purposes. Not all items are stocked.

2.28



MAZDA REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHT w0 gysy  cenTRE
MODEL P PARTNO  REFNO LEAVES  SIZE mm) CENTRE CENTRE paptNO BOLT NO
E BOLT  BOLT
(mm) (mm)

T SERIES GVM 4495 KG
T SERIES GVM 6000 KG
T SERIES GVM 7202 KG
T3500 2wD-2 TONNE
T3500 2wWD-3 TONNE
T3500 2wD-4 TONNE
T4100 2wWD-4 TONNE 70x11 AUX
WC93 WC94 WT75 A1 MAZDA004 4+2PP+7  70x7 2pP 600 600 BU751UK CB38-6
WT76 2 TONNE 70x10 PRI
WC87 WC89 3 TONNE
WC90 WC92 4 TONNE
WD80 4 TONNE
WT76 3 TONNE
WT77 WT78 WT79 WT80
4 TONNE
T3500 4x4 Ubolt UB506 3/4" x 72mm x 355mm - Square Top
E2200 MAZDA010 5+3 60x6 PR 550 650 BU701UK CB516-4
DUAL REAR WHEELS A2 60x8 2nd stage
1984 ON

Ubolt UB973 5/8" x 72mm x 245mm - Square Top

Can use

Fits some MAZDA013 MAZDA0O4in . 4 7ox11 PR 600 600 BU751UK CB38-6
T3000 & T3500 A2 most 70x16 2nd stage
4X4 vehicles applications

Ubolt UB506 3/4" x 72mm x 355mm - Square Top

This Catalogue is for reference purposes. Not all items are stocked.

2.29



MERCEDES FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHT© gysy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papT NO BOLT NO
E BOLT BOLT
(mm) (mm)
1626 1628 1632 1633 ALL MODELS
1635 1636 1638 1644 b'v?TTlfgsF'IcT)ﬁD
1719 1728 1929 1735 A greepavie 13 90x11 900 900 BU205BM CB469
1748 1834 1838 1840
1844 1919 1922 1924
1926 1928 1929 1931 MERC002A
1932 1933 1935 1936 Ubolt UB238 3/4" x 92mm x 280mm - Semi-Round Top
1938 1944 1948 2024
2026 2028 2031 2033 “SAL(J)'SE LASLESTED
e o o o
7.5 TON 620.320.0002
2228 2232 2233 2235 K STEERAXE  648.320.0002 4 9 900 900 BU206BM CBA469
2236 2238 2244 2428
2429 2433 2435 2448 MERCO002P
2536 2538 2544 2550
2624 2626 2628 2629 ALL MODELS
2631 2632 2633 2635 LISTED FITTED
2636 2638 2644 2648 WITH 6 TON
3244 3250 3328 3535
3544 3548 3850 4435 MERC002
4844 1245A 1831AK
Ubolt UB238 3/4" x 92mm x 280mm - Semi-Round Top
1414 1424 1425 1517
1613 1614 1616 1617
1619 1620 1622 1624
1625 2025 2219 2220 A MERCO009 617-320-0702 12 80X12 860 860 BU083BM CB12-8
2222 2225 2422 2425
2434 3025 1417 1422
2534
with mod to eye bushes Ubolt UB237 5/8" x 82mm x 250mm - Semi-Round Top
1414 1424 1425 1517
1613 1614 1616 1617
1619 1620 1622 1624
1625 1914 1915 K '7"'55%‘;2&?: 653.320.0002 4 80 860 860 SPECIAL CB553
2025 2219 2220 2222 '
2225 2422 2425 2434
3025
1717 1720 1722 1726
1733 1820 1824 1827
1831 MERC015P
2420 2426 2524 K araor onp  652:320.0002 4 80 860 860 SPECIAL CB553
2527 2531 2534
1831L LK1621
90x13 1-2
2822 3328 A MERCO012  623:320-0002 11 o0n11 311 900 810 BU205BM CB465A
TWIN STEER
Ubolt UB238 3/4" x 92mm x 280mm - Semi-Round Top
911 BUS A MERC020 10 70x14 860 860 BUOS3BM CB716-10

This Catalogue is for reference purposes. Not all items are stocked.

2.30



MERCEDES REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTt©o RIGHT© gygy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papTNO BOLT NO
E BOLT BOLT
(mm) (mm)
1923 1924 A MERC014 6+5 100x16 905 905 BU298BM CB472
2224 2226 2228
2232 2233 2235 | MERCO04A 6233200406 11 90x18 750 750 NR CB112
2238 2244 2435
2448
Ubolt UB526 24mm x 360mm x 90mm - Round Forged
2632 | MERC006  343-320-0206 11 100x16 750 750 NR CB112
2219 2222
2225V 2228V 3328 I MERCO010 385-320-0605 14 90x18 750 750 N/R CB112
:f(iz 2638 | MERCO016  385-320-0006 14 100x18 750 750 NR CB112
2534 A MERC015 11 80x13 860 860 BU548  CB553

This Catalogue is for reference purposes. Not all items are stocked.

2.31



MITSUBISHI FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHTw© gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paptNO BOLT NO
E BOLT  BOLT
(mm) (mm)
FM215 A MITS001 MC424130 13 80x9 650 630 BU308BM CB465
Ubolt UB232 3/4" x 82mm x 230mm - Square Top
R-MC611984 CB465
FM115 FM515 FM555 MITS003 L-M0611983 9 80x12 700 700 BU440BM CB465A
FM600 FM617 FM667 CB459
FM657 FM658 FM667 CB465
FM677 FMGSF FM67TF  *  MITS003H | oo oo 10 80x12 700 700 ?hgi?fBM CB465A
* Parabolic Replacement CB459
FN61 FN62 FN64 FN65 Change C/Bolt to CB465A if spring has shock plate at spring base.
Ubolt UB241 3/4" x 82mm x 250mm - Square Top
FK415 1985 - 1990 R-MC626888A
FK417 1089 - 1605 MITS005 o n 9 70x10 650 650 BU138BM CB635
FK617 UP TO 1995 A Ubolt UB231 5/8" x 72mm x 165mm - Square Top
FK61K ALL MODELS MITS005H 10 70x10 650 650 BU138BM CB635
FK62F Ubolt UB230 5/8" x 72mm x 190mm - Square Top
PK417
FP418 ALL MODELS
FV415 FV417
FV418 1990 ON MITS007 MC017354D 8 90x13 750 750 BU215BM CB465A
FV458 1984 ON A
FS427 FS428
FS52J TWIN STEER
FV51J FV54J MITS007H 9 90x13 750 750 BU215BM CB465A
Ubolt UB233 3/4" x 92mm x 230mm - Square Top
PARABOLIC OPTION MITS007P 4 3(:;26(: 750 750 BU215BM CB465A
AS ABOVE Ubolt UB233 3/4" x 92mm x 230mm - Square Top
sz 113: ;;Ng?g A MITS011 MC014794D 10 90x11 700 700 BU215BM CB465
FV358 Ubolt UB233 3/4" x 92mm x 230mm - Square Top
MITS019 R-MC452187A
FH100 1988 ON A canuse L-MC45521887A 7 70x11 650 650 BU138BM CB635
MITS005
FK102 FK115 A MITS021 7 70x9 600 600 BU138BM CB38-4
Ubolt UB434 3/4" x 72mm x 185mm - Square Top
FK455 FK457 FM557 1985 A MCE26003 BU440BM CB465
ON A MITS031 L-MC626904 11 80x11 700 700 BU308BM or
FM618 FM61F FK447 chassis  CBA465A
FM517 FN600 2005 Ubolt UB241 3/4" x 82mm x 250mm - Square Top
6T AXLE 90x14 1-3
MITS035 10 90x13 4-10 825 825 BU215BM CB459A
Efp?;‘ces 4 leaf parabolic A 8sTAME 11 90x14 14 825 825 BU215BM CB459A
MITS035H 90x13 5-11
Ubolt UB261 3/4" x 92mm x 285mm - Square Top

This Catalogue is for reference purposes. Not all items are stocked.

2.32



MITSUBISHI FRONT conTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTto RIGHT© gysy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papT NO BOLT NO
E BOLT  BOLT
(mm) (mm)
CANTER MODELS
MB294720A
FC432C FCA432E FE334 MITS009 MB294509E 5 70x11 600 600 BU723UK CB38-4
FE339 FE434 FE439 MB294550E
FE444 FE449 FE537
FE539 FE634 FE637 VB294720A
FE639 FE647 FE649 A
MB294509E -

FE657 FE659 FE73B MITS009H g 6 70x11 600 600 BU723UK CB38-4
FE83P FE85P FG434
FG439 Crew Cab Ubolt UB436 9/16 x 73mm x 220mm - Square Top - 4x4
FG639 FG649 FG659 Ubolt UB967 9/16 x 72mm x 125mm - Square Top
FG84D UB236 x 2 for models fitted with sway bar at both L and R front ubolt - FE84P x 4 - 2007 and FE85P Dual Cab

MITS009HP 3 7T°X15 600 600 BU723UK CB38-4
PARABOLIC OPTION aper
AS ABOVE Ubolt UB436 9/16 x 73mm x 220mm - Square Top - 4x4

Ubolt UB967 9/16 x 72mm x 125mm - Square Top

UB236 x 2 for models fitted with sway bar at both L and R front ubolt - FE84P x 4 - 2007 and FE85P Dual Cab

MITS009SPD-S 70x11 1-2
CANTER MODELS ;

MITS009SPN-S 10 70x8 3-10 600 620 BU723UK CB38-4
FG634 FG439 A

FG439 Crew Cab
FG649 FG659 FG84D

NOTE: Long Travel Shocks are required. Contact us for more info
NOTE: This spring suits vehicles using super single wheels

Ubolt UB436 9/16 x 73mm x 220mm - Square Top - 4x4
CANTER MODELS
FGB71 4x4 MITS039H 1PP+6+4PP 70x11 575 575  BU723UKT CB38-4
2WD MODELS
FEB51 FEB71 NOTE: For 4x2 Models Remove Spacers
FEC71 FEC90 FEC91 Ubolt UB236 9/16 x 73mm x 160mm - Square Top - 4x2 - Check dimensions
Ubolt UB435 9/16 x 73mm x 250mm - Square Top - 4x4 - Check dimensions
70x11 1-2
CANTER MODELS m::ggggg:g:zg +1/?IE?D|DC|;DE 70x8 3-10 575 600 BU723UKT CB38-4
FGB71 4x4 70x14 11-12
NOTE: Long Travel Shocks are required. Contact us for more info
NOTE: This spring suits vehicles using super single wheels
Ubolt UB432 9/16 x 72mm x 290mm - Square Top - 4x4
CANTER MODELS
FC211 FC211E FC212C A  MITS025 7 70x8 570 570 BU623U CB38-4

FC212E FE211C FE214E

This Catalogue is for reference purposes. Not all items are stocked.

2.33



MITSUBISHI REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTw©o RIGHTw gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papTNO BOLT NO
E BOLT BOLT
(mm) (mm)
MITS002 MC759604 8+8 80x10 700 865 BU308BM CB462
FM215 1976 - 1985 N
Ubolt UB557 3/4" x 82mm x 460mm - Square Top
:Zm';g Emgg img:; MC610441 80x11 AUX
MITS004 MC625265 9+1PP+10 80x9 1PP 700 700 BU308BM CB462
FM657 FM658 FM667 A1 MC626907A 80x11 PRI
FM65F FM67F FN65
FM61F Ubolt UB557 3/4" x 82mm x 460mm - Square Top
70x11 AUX
MITS006 MC610437 7+1PP+9 70x6 1PP 650 650 BU138BM CB12-8
FE85P 4.5 TONNE 70x11 PRI
FK415 FK417 FK418
18 72 405 -S T
FK455 FKA457 FK617 A1 Ubolt UB550 mm X 72mm x7ox1rr11rzux quare Top
FK618 FKE1F FKG62F MITS006H MC610437 8+1PP+10 70x6 1PP 650 650 BU138BM CB12-8
FK65F FN65
70x11 PRI
Ubolt UB585 18mm x 72mm x 465mm - Square Top
FS427 FS428
incl twin steer MITS008 MC014134 11 90x20 740 740 N/R CcB112
FV113 FV315 FV358
FV415 FV417 FV418 Ubolt UB555 27mm x 92mm x 360mm - Square Top
FK102 1976-1983 N MITS012 7+10 70x10 650 800 BU138BM CB716-8
FK115 1976-1984
90x11 AUX
FPA418 1985 ON A1 MITS023 9+1PP+10  90x8 1PP 800 800 BU215BM CB112
PK417
90x13 PRI
FV SERIES
HENDRICKSON B HENDO14 MC607694 11 100x13 432 520 BU474 CB12-6
CANTER MODELS
FC212C FC221C FC211E 70%8 AUX
FC212E FC432C FC432E MITS030 7+9 70x10 PRI 625 625 BU138BM CB1716-8
FE211C FE214E FE334
FE339 FE434 FE439
FE444 FE449 Ubolt UB966 5/8" x 72mm x 270mm - Square Top
CANTER MODELS
FC432C FC432E FE334 MITS010 6+6 70x10 625 625 BU138BM CB38-6
FE339 FE434 FE439
FE444 FE449 FE537
FE539 FE634 FE637 MITS010H 7+7 70x10 625 625 BU138BM CB38-6
FE639 FE647 FE649 A1
FE657 FE659 FE73B
FES3P FE85P FG434 MITS010XH 8+8 70x10 625 625 BU138BM CB38-6
FG439 Crew Cab
FG639 FG649 FG659 Ubolt UB963 5/8" x 72mm x 320mm - Square Top - Check dimensions
FG84D Ubolt UB504 5/8" x 72mm x 350mm - Square Top - Check dimensions
ROSABUS A MITS032 5 70x11 675 675 CB38-3
Parabolic conversion
70x10 AUX
FH100 CANTER A1 MITS034 7+1PP+7 70x6 1PP 650 650 BU903BM CB12-8
70x11 PRI
70x14 AUX
341PP+ PARABOLIC
CANTER MODELS MITS038SPH 70x14 PP 625 625 BU138BM CB38-6
7+9PP 70
FGB71 4x4 x11 PRI
70x11 PP
NOTE: Long Travel Shocks are required. Contact us for more info
NOTE: This spring suits vehicles using super single wheels
Ubolt UB550 18mm x 72mm x 405mm - Square Top - Check dimensions

2.34



NISSAN U.D FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHTw© gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paptNO BOLT NO
E BOLT  BOLT
(mm) (mm)
CK10 CK11 CK30 CK40 uDO005 5401020012 10+SM 90x11 711 711 BU297BM CB12-6
CK290 CK320 CK450
3/4" x 92 230 -S T

CKB450 to CKBA55 A Ubolt UB233 X 92mm x mm - Square Top
CPB12 CPC12 uD001 10+SM 90x11 711 711 BU297BM CB716-6
CW41 CW40 RB

Ubolt UB233 3/4" x 92mm x 230mm - Square Top
CK40 1980-1988

CB716-6

CW40 41 50 51 B uD0011 10 90x11 710 780 BU297BM
CV41 1976-1986 Ubolt UB233 3/4" x 82mm x 460mm - Square Top
CGB450
CWA45 CWA46 CWAT70 5401022014
CWA71 CW290 Cw320 uD003 5401022079 8+SM 90x13 775 775 BU297BM CB12-6
CW350 CW440E CW450 5401020105
CWB450 450E A
CWB452 CWB455 .

Ubolt UB242 3/4" x 92mm x 225mm - Square Top - Can Be 7/8 Please Confirm
CW445 UDO003H 9+SM 90x13 775 775 BU297BM CB12-6
Cwass3 Ubolt UB244 7/8" x 92mm x 230mm - Square Top
CMF88H CLG87 CLG88 5 ypoo13 8 70x11 675 625 BU138BM CB38-6
check main leaf length
Fi245 P25 PKCS10 80x13 1.4
CPA87 CPB37 CPBSS A uDo0018 5401020166 9+SM gg:((“ ;j 700 700 BU308BM CB12-6
CPB14 CPC14 CPC15
CWA15 CWA310 Ubolt UB232 3/4" x 82mm x 230mm - Square Top
CMF87 A uDO020 7 70x11 650 650 BU138BM CB635A
7 leaf version Ubolt UB231 5/8" x 72mm x 165mm - Square Top
CLG87 CLGS88
check main leaf length 5401025269
CM80 CM90 CM180 uDo024 54010C2501 8 70x11 650 650 BU138BM CB635A
CMB87 CMF87 CMF88
CMF180 MKB183 A
MKB185 MKB210
m?:; 5M'}‘2§1§°M"|2§:535 Check main leaf length it could be IH018
MK265 Ubolt UB230 5/8" x 72mm x 190mm - Square Top

If vehicle has sway bar fitted use 2x UB230 and 2x UB231
CMAB81 1983-1987
CMAB86 1983-1987
CMAB87 1987-1989 IH018 8 70x11 625 625 BU138BM CBS38-6A
MK180 MK185 MK235 A
CMF180 MKB183
MKB185 MKB210
MKB215 MK240 MK245
MK265 N1630 Check main leaf length it could be UD024

Ubolt UB231 5/8" x 72mm x 165mm - Square Top
CGA45 1984-1988
CWA46 1980-1985 A UD021 7+SM 90x13 770 770  BU297BM CB465
CHECK SPRING SPEC
CIVILIAN BUS A NISS027 6 70x8 575 575 BU705UK CB38-3

2.35



NISSAN U.D REAR

T DIMENSIONS
VEHICLE Y BLUEMAX OEM NO MATERIAL LEFTto RIGHT w0 gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papTNO BOLT NO
E BOLT BOLT
(mm) (mm)
CK30 CK40 CK41
1980 - 1988 N uD002 5502020008 6+12 90x12 800 914 BU309BM CB462
SINGLE DRIVE AXLE
5502022074
uD022 0.E.M SPEC 9 90x18 770 770 N/R CB112
CHAS 500
Recommmended for single spring replacement (matching removed spring)
MODIFIED TO
CGA45 CW240 UD004 S NDARD 11 90x16 770 770 NR CB112
CW44 CWA15 oPEC.
CWA300 CWA310 : : - ;
CWA320 CWA45 CWA46 Recommmended for single spring replacement (matching removed spring)
CWAS52 I 5502022075
CWAS3 CWA70 CWB450 UD009 OE.MSPEC 8 90x20 770 770 NR CB112
CWB455 CHAS 500
AND CHAS 900
Customer to advise number of Recommmended for single spring replacement (matching removed spring)
leaves and material thickness
5502020005
UDO004H 0.E.M SPEC 9 90x20 770 770 N/R CB112
CHAS 900
Heavy duty spring interchangeable with above springs (in pairs)
Ubolt UB576
ga:g | UD006 5502022011 11 100x16 775 775 N/R CB467
CW51 UPTO 1988 Ubolt UB597 27mm x 102mm x 360mm - Square Top
CLG87 CLG88 CMAS81
CMB86 CM160 CMB87
CM180 CMF180 70x11 AUX
CMAB86 1983-1987 8+1PP 70x9 1PP
CMAS87 1987-1989 uDo008 5502025105 7+1PP 70x11 PRI 650 650 BU138BM CB12-8
CMF87 1989 ON A1 70x9 1PP
CMF88 1989 ON
MK180 MK185 MK235
MK240 MK245 MK265
MKB183 MKB185 KB210
MKB215 MKS61 Ubolt UB550 18mm x 72mm x 405mm - Square Top - can be 420mm on some models
Ubolt UB585 18mm x 72mm x 465mm - Square Top - use 2 of F of R if shock is mount fitted
CK10 CK11 A1 UD010 7412 80x10 AUX 4, 700  BU859BM CB12-10
SINGLE DRIVE AXLE 80x11 PRI
CKA45 CKA46
SINGLE DRIVE AXLE Al UD012 6+9 90x13 800 800 BU309BM CB462
80x12 AUX
CPB14 CPC14 CPC15 80x13 1PP
PK220 PK235 PKB210 uDo014 8+1PP+9 80x13 MAIN 800 800 BU308BM CB462
80x14 11-18

This Catalogue is for reference purposes. Not all items are stocked.

2.36



REYCO

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHT© gygy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papTNO BOLT NO
E BOLT BOLT
(mm) (mm)
:gﬁgngER'Es A REY001 2281%148-21 13+2PP 75x10 585 585  N/R CB12-8
TF\”UCK SuU
SPENSION Ubolt UB78-3-18.5RD 7/8" x 75mm x 470mm - Round Top
ROCKWELL MERITOR
T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTw©o RIGHTw pysy  cENTRE
MODEL P PARTNO  REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paptNO BOLT NO
E BOLT BOLT
(mm) (mm)
AC6S
ARTICULATOR SUSPENSION H ROCKO001 ﬁ\gZSOHmOA 11 100x16 770 770 N/R CB12-10
LOW MOUNT
PB-90052 Aus.
Ubolt UB574 32mm x 102mm x 330mm - Square Forged
':gfvs\( v . ROCK003  LB5560B 12 100x16 770 770 NR CB12-10
HIGH MOUNT
Ubolt UB574 32mm x 102mm x 330mm - Square Forged
A3280W173A
AC6T SUPERCEEDS
ARTICULATOR SUSPENSION H  ROCKO005 TO 8 130x20 850 850 N/R CB12-8
PB-90053 Aus. A3280R564A
AC6P
LIGHTWEIGHT
o o, suspension | ROCK007  A3280S164A 11 90x16 750 750 NR CB12-10
PB-90050 Aus.
Ubolt UB590 24mm x 90mm x 285mm - Square Top
ggii Ay DUTY y  IHo23 A3280Z494A 9 100x20 760 760 NR CB12-10
ROAD TRAIN APPL.
Ubolt UB574 32mm x 102mm x 330mm - Square Forged

This Catalogue is for reference purposes. Not all items are stocked.

2.37



SCANIA FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTto RIGHT© gysy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE papT NO BOLT NO
E BOLT BOLT
(mm) (mm)
LK 141
LKT 111 H A SCANO001 9 90x13 735 975 BU144  CB12-6
LB80 LB85 LBS85
LB LBS LBT110
LB LBS LBT140 A SCAN003 247254 9 90x13 850 850 BU144  CB12-6
LB LBT111
LB141 LK111
G82M G82H
T82H SCAN005 2729424 7 90x16 910 910 BU144  CBS12M-6.5
P82M P82H
T82M
P92M SINGLE STEER Ubolt UB694 7/8" x 92mm x 225mm - Semi-Round Top - Check dimensions
G112M G112 M/H - . ——
3/4" x 92mm x 230mm - Semi-Round Top - Check dimensions
P112M P112 M/H A B0ltUB696 p
R112M R112 M/H
R113H
T112M T112 MH SCANOO5H 2720424 8 90x16 910 910 BU144  CBS12M-6.5
R142M R142 M/H
T142M T142 M/H
T122 M/H Ubolt UB694 7/8" x 92mm x 225mm - Semi-Round Top - Check dimensions
Ubolt UB696 3/4" x 92mm x 230mm - Semi-Round Top - Check dimensions
94G 112M 142
1377666 90x30
400 SERIES K SCANOOSP - 770% 2 AT P TRE 910 910 BU144 CB553
R113H
112 90x30
1430 I H K SCANO0SP 1377670 3 AT e 910 910 BU144 CB553

This Catalogue is for reference purposes. Not all items are stocked.

2.38



SCANIA REAR

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFT©o RIGHT© gygy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papT NO BOLT NO
E BOLT BOLT
(mm) (mm)
PRIMARY
ALL MODELS 285657-3 90x13 AUX
hoLE SR E axLE A1 SCAN002 20073 747 9016 o 890 890 BU145  CB12-6
285703-5

M SERIES SUSPENSION
IMPERIAL EQUIVALENTFOR A SCANO004 529189 9 90x13 620 620 BU145 CBS12M-6.5
SCANO008

SCAN006  211527-7 12 100x16 740 740 N/A CB12-6
H SERIES SUSPENSION | Ubolt UB549 30mm x 320mm x 100mm - Semi-Round Forged

SCANOO6H  211527-7 13 100x16 740 740 N/A CB12-6

Ubolt UB549 30mm x 102mm x 320mm - Semi-Round Forged
M SERIES SUSPENSION A SCANO008 7 90x14 620 620 BU145 CBS12M-6.5
ORIGINAL DESIGN

Ubolt UB698 7/8" x 92mm x 280mm - Semi-Round Top

90x30
143M J  SCANO10P 1377711 4 et 770 770 NR  CB993
143H J  SCANO12P 1377712 4 90x41 770 770 NR  CB993
AT CENTRE

This Catalogue is for reference purposes. Not all items are stocked.

2.39



TOYOTA FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL LEFTto RIGHT 0 gygy CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE prpTNO BOLT NO
E BOLT BOLT
(mm) (mm)
DYNA 300 SERIES 0x8 PR
BUS5 / 88 DYNA002 7+2 o132 e 50 550 BU716UK CB38-4
8/1987 ON 9
DYNA 400 SERIES Ao Ubolt UB505 5/8" x 72mm x 130mm - Square Top
Wu90
8/1984 - 8/1987 70x8 PRI
BU91 / WUS0 DYNA004 6+2 70x13 nasage 575 575 BU716UK CB38-4
8/1987 ON
CHECK MAIN LEAF LENGTH Ubolt UB505 5/8" x 72mm x 130mm - Square Top
DYNA 150 SERIES A DYNAO006 5 70x8 550 550 BU714UK CB38-4
LY60 / 61
Ubolt UB967 9/16" x 72mm x 125mm - Square Top
DYNA 200 SERIES
BU60 66 80 81 83
01984 ON ,  DYNA020 9 70x6 575 575 BU723UK CB38-4
DYNA 300 SERIES
BU 60 80 81 83
9/1984 - 1987 Ubolt UB505 5/8" x 72mm x 130mm - Square Top
TOYOTA REAR
T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL  LEFTto RIGHT o g,gy CENTRE
MODEL P PARTNO REFNO  LEAVES SIZE mm)  CENTRE CENTRE p prNo BOLT NO
E BOLT BOLT
(mm) (mm)
70%8 PRI
DYNA 150 SERIES o DYNA0O? 4+1 016 2 siage 605 605 BU714UK CB38-4
LY60 / 61 9
Ubolt UB434 9/16" x 73mm x 185mm - Square Top
DYNA 300 SERIES DYNAO009 5+9 70x10 605 605 BU519UK CB38-8
BU8S5/ 88 Al Ubolt UB963 5/8" x 72mm x 130mm - Square Top
8/1987 ON
Ubolt UB966 5/8" x 72mm x 270mm - Square Top
DYNA 400 SERIES
WU90
8/1984 - 8/1987 A1 DYNAO10 6+7 778)’(‘?1’*;’; 650 650 BU138BM CB38-6
BU91 / WU90
8/1987 ON
CHECK MAIN LEAF LENGTH Ubolt UB506 3/4" x 72mm x 130mm - Square Top
E:y:/ 1820 SERIES A2 DYNAO11H 4+3 gg)’(‘%‘\;’; 530 675 BU733UK CB38-4
BU709UK
Single wheels
DYNA 200 SERIES
70x10 AUX BU519UK
BU60 80 81 83 o DYNAO12 5+6 Oct3 605 605 5o
9/1984 - 8/1987 BU482
BU60 66 80 81 83 Sirent Block
Ubolt UB966 5/8" x 72mm x 270mm - Square Top

This Catalogue is for reference purposes. Not all items are stocked.

2.40



VOLVO FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHT®© gygy  CENTRE
MODEL P PARTNO REFNO LEAVES  SIZE mm) CENTRE CENTRE papTNO BOLT NO
E BOLT  BOLT
(mm) (mm)
F10 1978 - 1986 100x13 PRI
F12 1982 ON B VOLVO001 6892911-6 7+1PP 100010 1re 890 760 BU142  CBS12M-6.5
TWIN STEER 1ST 8Xx4
F10 1978 - 1986
F12 1982 ON B VOLVO002 689292-07 8 1?88‘131“"2’};“ 660 740 BU142  CBS12M-6.5
TWIN STEER 2ND 8X4
F727 F7 1980 ON
Trar PN B VOLVO003 6862880-9 7 100x13 838 851 BU142  CBS12M-6.5
F727 F7 1980 ON
T o s B VOLVO004 6862881-7 8 100x11 572 826 BU142  CBS12M-6.5
N7 N10 N12 B1 VOLVO005 257230 6+3PP 100x13 565 953 BU142  CBS12M-6.5
N7 N10 65T
FL7 FL10 65T A VOLVOO10M 257595 9 100x13 935 815 BU142  CB12-6
F7 N12
F10 65T AXLE #
F12 657 AX53A000
NT 6o L  VOLVOO007P 3 100mm Wide 935 815 BU142 CB553
N10 70T N12 7.5T 257-353
AXLE #
F10 AX53A000
F12 75T AX53K000
FL7 K  VOLVO010P 3 100mm Wide 935 825 BU142 CB553
FL10 7.5/8.0T gg;:%'g
N10 80T N12 80T Pl
AXLE #
F7 AX53A000 .
T N STEER 2 L VOLVOO12P ,\ono00 2 100mm Wide 935 1025  BU142 CB553
8393975
AXLE #
F7 65T AX53A000 100x22
U L VOLVOO13P o 7ys 3 Taper 845 1040  BU142 CB553
257460
FL7 65T FL10 65T
N10 65T AXLE #
N12 eor AX53A000 100429
: K  VOLVOO020P AX53K000 2 935 815 BU142 CB553
SINGLE / TWIN STEER #1 257-473 Taper
NL12
SINGLE STEER
FL7 65T FL10 65T
N10 e57 K VOLVO021P 257-474 2 100x28 835 815 BU142 CB553
N12 65T Taper
TWIN STER #2
F10 F12 F16 100x30
e K VOLVO022P 257-459 2 Taper 895 815 BU142 CB553
257-459 100X30
K  VOLVO023P 257-460 3 895 815 BU142 CB393
F10 F12 F16 257.474 Taper
7.5T AXLE

NOTE: Some models are a 2 leaf see above part # VOLVO023P is HD

Version

This Catalogue is for reference purposes. Not all items are stocked.

2.41



VOLVO FRONT cONTINUED

T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHT© gygy  cENTRE
MODEL P PARTNO REFNO LEAVES  SIZE ;mm) CENTRE CENTRE paptNO BOLT NO
E BOLT  BOLT
(mm) (mm)
100x22/24
E;ﬁ TWIN STEER K  VOLVOO024P 257-868HD 3 Taper 795 795 BU972 CB553
NOTE: Does NOT suit silent block application
257-890 100x22/24 Silent
E;ﬁ TWIN STEER K  VOLVOO024PSB 257-928 3 Taper 795 795 Block CB553
21321727 NOTE: Suits Silent Block application only
257-840 100x32
::10 FH12 FH16 K VOLVOO029P 257-842 2 Taper 990 900 BU972 CB553
257-867 NOTE: Does NOT suit silent block application
100x30 Silent
. 2 990 900 TBA
FH12 (Version 2) 257-452 Taper Block

K VOLVOO030P 257-888

FH13 FH16 257-927 NOTE: Suits Silent Block application only
NOTE: Does NOT suit later model FE FH FM Models with 90mm wide spring
VOLVO REAR
T DIMENSIONS
VEHICLE Y BLUEMAX O.EM NO MATERIAL LEFTto RIGHTto BysH CENTRE
MODEL P PARTNO REFNO LEAVES  SIZEmm) CENTRE CENTRE pART NO BOLT NO
E BOLT BOLT
(mm) (mm)

BGT | VOLVOO014 257624 9 90x26 790 790 N/R  CB460
26 TON
SUSPENSION 175mm Hole Centres
BGT LATE " voLvoo1e 257625 8 90x24 790 790 N/R  CB460
20 TON
SUSPENSION 175mm Hole Centres
FL7 prvseiy MR
F86 D VOLVO025 257625 8+5+2PP o 990 990 CB12-6
SINGLE DRIVE AXLE 100x10 1P
F7
BGT 18 TON J  VOLVOO017P 257-439 2 90 795 795 N/R  CB553
SUSPENSION
BGT 26 TON
SUSPENSION J  VOLVOO019P 257-366 2 90 780 780 N/R  CB553
102W
REYCO FOUR F  REYO001 6897231-4 13+2PP 75x10 585 585 N/R  CB12-8
SPRING SUSPENSION

HENDRICKSON SUSPENSIONS - refer to Multi-Leaf Truck Springs HENDRICKSON for futher details.

This Catalogue is for reference purposes. Not all items are stocked.

2.42



WESTERN STAR FRONT

DIMENSIONS

BLUEMAX O.E.M NO MATERIAL  LEFTto RIGHTto gygy CENTRE

PARTNO REFNO  LEAVES  SIZE (mm) CENTRE CENTRE paARTNO BOLT NO
BOLT BOLT

(mm) (mm)

VEHICLE
MODEL

mv<-

3800 SERIES 37101-4006
WEST001 15 100x10 670 864 BUO73BM CB463
4800 SERIES EARLY A 37101-3413 X

E & S MODELS

Ubolt UB263 3/4" x 102mm x 300mm - Square Top

4800 SERIES
CONSTELLATION with 52"

SPRING
STRAIGHT PIN

A WEST007T 11 100x11 670 670  BU790 CB716-6

3800E 1996 ON
HERITAGE CLASS

4800 4900 SERIES WEST003  37101-3463 -+ 10 100x13 800 800 BU905BM CB12-7
CONSTELLATION & HERITAGE A +1PP
CLASS

5900 SERIES

6900 SERIES F MODEL Ubolt UB263 3/4" x 102mm x 300mm - Square Top - Check shape as later models may be Round Top

4900 5900 6900 SERIES
POST 2000 CONSTELLATION WEST003T 1PP+11 100x13 800 800  BU790 CB12-7

A
with THREADED PINS &

BUSHES Ubolt UB263 3/4" x 102mm x 300mm - Square Top - Check shape as later models may be Round Top

PARABOLIC OPTION
3800E 1996 ON
4800 SERIES HERITAGE 37101-3453
WESTO003P 3 100 800 800 BU905BM  CB12-6
4800 4900 SERIES K 37101-3466
CONSTELLATION

5900 SERIES

6900 SERIES F MODEL Ubolt UB263 3/4" x 102mm x 280mm - Square Top - Check as maybe 7/8"

HEAVY DUTY
PARABOLIC OPTION

3800E 1996 ON

4800 SERIES WeRmAGE | WESTOOSP 371013469 4 12;’9:‘ 21
4800 4900 SERIES

CONSTELLATION

5900 SERIES

800 800 BU905BM CB12-6

6900 SERIES F MODEL Ubolt UB263 3/4" x 102mm x 280mm - Square Top - Check as maybe 7/8"

HEAVY DUTY POST 2000

PARABOLIC OPTION

with threaded bushes

3800E 1996 ON 100 x 21
4800 SERIES HERITAGE K WESTO005PT 4 Taper
4800 4900 SERIES

CONSTELLATION

5900 SERIES

800 800 BU790 CB105

6900 SERIES F MODEL Ubolt UB263 3/4" x 102mm x 280mm - Square Top - Check as maybe 7/8"

16-139-77003 100x20

PARABOLIC OPTION WESTO006P 1617223 4 660 740 BU790 CB105
FX 4800 - FX4900 K 16-197-22003 Taper

2010 ONWARDS

Ubolt UB273 7/8" x 102mm x 270mm - Square Top - Check dimensions

This Catalogue is for reference purposes. Not all items are stocked.

2.43



WESTERN STAR REAR

TUFTRAC-05P FLC16-15724 70x50

K 40,000 LB -002 TAPERED

N

838 838 N/A
WESTERN STAR

NOTE: Assembly includes 1 x 2 Leaf Parabolic Spring - 1 x Upper Casting - 1 x Lower Casting - 2 x Ubolt

ROCKWELL SUSPENSIONS - refer to Multi-Leaf Truck Springs ROCKWELL for futher details.
HENDRICKSON SUSPENSIONS - refer to Multi-Leaf Truck Springs HENDRICKSON for futher details.

REYCO SUSPENSIONS - refer to Multi-Leaf Truck Springs REYCO for futher details.

This Catalogue is for reference purposes. Not all items are stocked.

2.44



WHITE FRONT

T DIMENSIONS
VEHICLE Y BLUEMAX O.E.M NO MATERIAL  LEFTto RIGHTto gygy CENTRE
MODEL P PARTNO REFNO  LEAVES  SIZE (mm) CENTRE CENTRE paARTNO BOLT NO
E BOLT BOLT
(mm) (mm)
DIAMOND REO 188";0 MAIN
AUTO CAR A WHITE001 7+2 X9 27 635 690  BU0S2 CB12-6
GIANT 100x16
2nd stage
ROAD BOSS 108-13-528
2ou0 . WEsToo1 P 15 100x10 670 864 BUO73BM CB463
1980 ON
Ubolt UB263 3/4" x 102mm x 300mm - Square Top
ROAD COMMANDER , WHITES29 1013529 12+4SM  100x10 667 667 BUO73BM CB716-8
9000
Ubolt UB263 3/4" x 102mm x 300mm - Square Top
WHITE REAR

ROCKWELL SUSPENSIONS - refer to Multi-Leaf Truck Springs ROCKWELL for futher details.
HENDRICKSON SUSPENSIONS - refer to Multi-Leaf Truck Springs HENDRICKSON for futher details.

REYCO SUSPENSIONS - refer to Multi-Leaf Truck Springs REYCO for futher details.

This Catalogue is for reference purposes. Not all items are stocked.

2.45



R
=
-

N
SUSPENSION SUPPLIES AUSTRALIA
WWW.SSa.com.au

MENAUGHTANS

BUS - TRUCK - TRAILER HARDWARE

www.mcnaughtans.com.au

BLUE
MAX

PARABOLIC RELEASE
PARABOLIC REPAIR PLATES

| EXTRA LEAF'S

PART NUMBER  DESCRIPTION / VEHICLE APPLICATION SUITABLE FOR

RPP70151800 70MM WIDE 15MM CENTRE 1800MM LONG HIACE 300 SERIES

RPP70161350 70MM WIDE 16MM CENTRE 1350MM LONG  ISUZU NPR / JAPANESE TRUCKS
RPP75131800 75MM WIDE 13MM CENTRE 1800MM LONG FORD TRANSIT / EUROPEAN VANS
RPP75161800 75MM WIDE 16MM CENTRE 1800MM LONG FORD TRANSIT / EUROPEAN VANS

AVAILABLE THROUGH SUSPENSION SUPPLIES AUSTRALIA AND MCNAUGHTAN'S KEYSBOROUGH

BRISBANE MELBOURNE

Suspension Supplies Australia McNaughtan's - Head Office
219 Toombul Rd, Northgate QLD, 4013 321Greens Rd, Keysborough, VIC, 3173

Phone: 073370 3200 Phone; 03 8768 6666
Email: info@ssa.com.au Email: vicsales@mcnaughtans.com.au




Semi-Trailer
Leaf Spring Section

TN fa

i

BLUEMAX Distributing Australia Wide Ph 1800 630 411
219 Toombul Road - Northgate Qld 4013 - Australia - www.ssa.com.au



e T

F G
- DIMENSIONS
VEHICLE Y  BLUEMAX NO MATERIAL é—:::é‘é g:gl'j'rL: MAIN LEAF  cENTRE
MODEL : PART NO LEAVES  SIZE (mm) BoLT BOLT HOOK LEAF BOLTNO
(mm) (mm)
FREIGHTER B 453-1
203P01453 F  B453 9 90x11 520 520 CB12-6
SINGLE HOOK B 4532
HEAVY DUTY B 453
203PO1453 F  B453H 10 90x11 520 520 CB12-6
SINGLE HOOK B 453-2
FRUEHAUF B 013-1
ULA-1493 G B013 13 75x10 525 525 CB12-6
DOUBLE HOOK B 013-3
FRUEHAUF B 013-1
SS-7514 G BO014 14 75x10 525 525 CB12-6
DOUBLE HOOK B 013-3
HAULMARK B 010-1
2241 F  BO010 10 75x11 545 585 CB12-6
SINGLE HOOK B 010-3
HAULMARK B 010A-1
2243 G BO10A 10 75x11 545 545 CB12-6
DOUBLE HOOK B 010A.3
HAULMARK B 010-1
2244 F BOM 11 75x11 545 585 CBS12M-8
SINGLE HOOK B 010-3
HAULMARK B 010A-1
2245 G BOMA 11 75x11 545 545 CBS12M-8
DOUBLE HOOK B 010A.3

2.46



e T

F G
. DIMENSIONS
VEHICLE Y  BLUEMAX NO MATERIAL é—:::é‘é g:gl'j'rL: MAIN LEAF  cENTRE
MODEL : PART NO LEAVES ~ SIZEmm CERTRE CENTRE K LEAF BOLTNO
(mm) (mm)

LUSTY ALLISON B 113-1

LA113 F  B113 8 100x13 572 545 CB12-6
SINGLE HOOK B 113-3

LUSTY ALLISON B 113A-1

LA113A G B113A 8 100x13 545 545 CB12-6
DOUBLE HOOK B 113A.3

McGRATH B 026-1

13800026 F  B026 14 75x10 540 616 CB38-8
SINGLE HOOK B 026-3

McGRATH B 026A-1

13B00026A G B026A 14 75x10 550 550 CB38-8
DOUBLE HOOK B 026A.3

McGRATH B 026-1

13800197 F B197 15 75x10 540 616 CB38-8
SINGLE HOOK B 026-3

McGRATH B 026A-1

13B00197A G B197A 15 75x10 550 550 CB38-8
DOUBLE HOOK B 026A.3

247



e T

F G
- DIMENSIONS
VEHICLE Y  BLUEMAX NO MATERIAL é—::TTé‘é g:gl'j'rL: MAIN LEAF  cENTRE
MODEL : PART NO LEAVES  SIZE (mm) BOLT BOLT HOOK LEAF BOLTNO
(mm) (mm)
REYCO 21B REY 002 REY 002-1
T3564 F Manufacture from 8 75x13 551 551 CB1 2-6
SINGLE HOOK B008 REY 002-3
RUBERY OWEN B 008-1
6420/8 F B008 8 75x13 543 567 CB12-6
SINGLE HOOK B 008-3
RUBERY OWEN B 008A-1
6420/8 DOUBLE G B 008SA 8 75x13 543 543 CB12-6
HOOK B 008A-3
RUBERY OWEN B 008A-1
6420/8 SINGLE F B 008C 8 75x13 543 543 CB12-6
HOOK  CENTRED B 008C-3
RUBERY OWEN B 008-1
6420/9 F  B009 9 75x13 543 567 CB12-6
SINGLE HOOK B 008-3
RUBERY OWEN B 008A-1
6420/9 G BO009A 9 75x13 543 543 CB12-6
DOUBLE HOOK B 008A-3
RUBERY OWEN B 008A-1
SINGLE HOOK F B009C 9 75x13 543 543 CB12-6
CENTRED B 008C-3
SPECIAL BO76-1
59930076 F BO76 10 90x20 560 560 CB916-10
SINGLE HOOK B076-3
YORK B022-1
SPECIAL
59930022 F  B022 11 90x16 555 555 CB12-8
SINGLE HOOK B022-3
YORK B012S-1
SPECIAL 770710 F B 012S 10 75x16 540 540 CB12-8
SINGLE HOOK B012S-3

2.48



BLUEMAX Distributing Australia Wide Ph 1800 630 411
219 Toombul Road - Northgate Qld 4013 - Australia - www.ssa.com.au




DIMENSIONS

BLUEMAX PART NO o.D I.D LENGTH
BU296BM 7/8" 3/4" 1"
BU063BM 1" 3/4" 21/4"
BU065BM 1" 3/4" 3"
BU079BM 1" 7/8" 11/4"
BU068BM 11/8" 7/8" 21/2"
BU069BM 11/8" 7/8" 3"
BU080OBM 11/8" 1" 1"
BU072BM 11/4" 1" 3"
BU073BM 11/4" 1" 4"
BU074BM 13/8" 11/8" 3"
BU081BM 13/8" 11/4" 11/2"
BU075BM 11/2" 11/4" 3"
BU076BM 11/2" 11/4" 31/2"
BU077BM 11/2" 11/4" 4"
BU178BM 1 5/8" 11/4" 4"
BU078BM 1 5/8" 13/8" 4"
BU904BM 13/4" 11/2" 4"
BU905BM 1 3/8" 11/8" 4"

3.01



DIMENSIONS
BLUEMAX PART NO 0.D (mm) 1.D (mm) LENGTH (mm)
BU059BM 22 16 58
BU083BM 30 25 70
BU205BM 30 25 77
BU206BM 30 25 87
BU207BM 30 25 100
BU311BM 31 25 70
BU390BM 31 25 80
BU208BM 32 28 80
BU138BM 34 28 70
BU859BM 34 28 80
BU274BM 34 28 90
BU219BM 35 30 70
BU211BM 35 30 77
BU084BM 35 30 80
BU212BM 35 30 89
BU213BM 35 30 100
BU121BM 36 30 70
BU308BM 36 30 80
BU297BM 36 30 90
BU440BM 38 30 80
BU970BM 38 30 90
BU214BM 38 32 80
BU215BM 38 32 90
BU216BM 38 32 100
BU441BM 40 32 100
BU309BM 42 35 90
BU310BM 42 38 95
BU137BM 46 38 90



DIMENSIONS

VEHICLE MODEL BLUEMAX PART NO OEM REF. o.D I.D LENGTH
International BU296BM 63942H 7/8" 3/4" 1"
International BU079BM 95122H 1" 7/8" 11/4"
International BUOSOBM 69102H 11/8" 1" 1"
International BU081BM 31161VA 1.3/8" 11/4" 11/2"
DIMENSIONS

VEHICLE MODEL BLUEMAX PART NO OEM REF. 0.D 1.D LENGTH
Ford Cargo BU539AU 2" 20mm 31/2"
Ford Cargo BU539U 2" 20mm 3"
gj:g;i::;‘:"‘sﬁ:g BU548 47421 2 3/8" 7/8" 3"
Isuzu BU488 42mm 16mm 80mm
Isuzu BU488H 40mm 16mm 40mm
Isuzu BU489 42mm 18mm 80mm
Toyota Dyna BU716UT 40mm 16mm 76mm
International BU296BM 63942H 7/8" 3/4" 1"
International BU079BM 95122H 1" 7/8" 11/4"
International BU080BM 69102H 11/8" 1" 1"
International BU081BM 31161VA 1.3/8" 11/4" 11/2"

3.03



DIMENSIONS

VEHICLE MODEL BLUEMAX PART NO OEM REF. o.D I.D LENGTH
Atkinson / Transtar BU538 688951R1 1.77" 1.375" 4"
Ford Louisville BU541 LF5348A 36mm 27.5mm 102mm
Freightliner BU693 16-12301-000 38mm 30.5mm 99mm
Kenworth BU082 5295 1.75" 1.375" 4"
Mack BU141 10QK148 1.75" 1.375" 31/2"
Mitsubishi BU474 MC008047 47mm 35mm 110mm
Scania BU144 S:128680 / 37749 36mm 28mm 90mm
Scania BU145 S:135036 46mm 90mm
Volvo BU142 1504550 45mm 35mm 106mm
Volvo BU143 3511912 35mm 26mm 75mm
Western Star constellation BU790 37114-3410 44.5mm 31.2mm 99mm
International BU296BM 63942H 7/8" 3/4" 1"
International BUO79BM 95122H 1" 7/8" 11/4"
International BU0O80OBM 69102H 11/8" 1" 1"
International BU0O81BM 31161VA 1.3/8" 11/4" 11/2"

3.04



.
=
v

-

5 A
]

L

F

——=

DIMENSIONS
LENGTH FLANGE FLANGE CRUSH TUBE

BLUEMAX ID mm OD mm OVERALL mm DEPTHmm DIAMETER mm ID x OD X LENGTH
PART NO A B C D E mm
BU623U 22 40 44 8 50 N/A
BU652U 19 38 40 8 45 N/A
BU705U 20 32 40 8 40 N/A
BU748U 22 42 40 7 50 N/A
BU716UT 22 40 33 4 50 16mm x 22mm X 75mm
BU716U 22 40 33 4 50 N/A
BU749U 22 43 37 4 50 N/A
BU750U 21 37 38 4 44 N/A
BU651U 21 33 37 5 38 N/A
BU114U 18 30 37 5 37 N/A
BU433U 18 30 34 5 36 N/A

3.05



Truck Centre Bolts
Section

BLUEMAX Distributing Australia Wide Ph 1800 630 411
219 Toombul Road - Northgate Qld 4013 - Australia - www.ssa.com.au



ll
i

BLUEMAX SHANK SHANK THREAD HEAD HEAD
PART NO DIAMETER LENGTH LENGTH DEPTH DIAMETER
CB 38-3 3/8" 3" 2" 10mm 14mm
CB 38-4 3/8" 4" 3" 10mm 14mm
CB 38-6 3/8" 6" 3" 10mm 14mm
CB 38-8 3/8" 8" 4" 10mm 14mm
CB 38-10 3/8" 10" 5" 10mm 14mm
CB 38-12 3/8" 12" 9" 10mm 14mm
CB 716-6 7/16" 6" 3" 12mm 16mm
CB 716-8 7/16" 8" 4" 12mm 16mm
CB 716-10 7/16" 10" 4" 12mm 16mm
CB 716-12 7/16" 12" 6" 12mm 16mm
CB 12-6 1/2" 6" 41/2" 13mm 18mm
CB 12-8 1/2" 8" 4" 13mm 18mm
CB 12-10 12" 10" 5" 13mm 18mm
CB 12-12 12" 12" 6" 13mm 18mm



l_l
I

MODEL BLUEMAX PART SHANK SHANK THREAD HEAD HEAD
NO DIAMETER LENGTH LENGTH DEPTH DIAMETER

ATKINSON FRONT CB 108 3/8" 7" 3" 1" 3/4"

CBS38-4.5B 3/8" 41/2" 31/2" 16mm 14mm
HINO FRONT

CB 108 3/8" 7" 3" 1" 3/4"
HINO REAR CB 112 5/8" 13" 8" 5/8" 1"

CBS 916-6 9/16" 6" 4" STEPPED 19X10X12X16

CB 462 9/16" 10" 4" 1/2" 7/8"

CB 463 7/16" 8" 3" 5/8" 5/8"

CBS 38-6B 3/8" 6" 3" 22mm 14mm
ISUZU CB 635A 3/8" 6" 3" 22mm 14mm

CB 861 18mm 5" 3" STEPPED 31X6X24X8

CB 863 5/8" 10" STEPPED 24X8X17X17

CBS 58-8 5/8" 8" 11/2" 26mm 24X8X17X26

CB 865 5/8" 8" 6" STEPPED 24X10X17X10
INTER FRONT CBS 38-6A 3/8" 6" 5" 16mm 14mm
ISUZU REAR UD REAR CB 464 5/8" 7" 3" 3/8" 7/8"
MAZDA FRONT CBS 38-6A 3/8" 6" 5" 16mm 14mm

CB 462 9/16" 10" 4" 1/2" 7/8"
MERCEDES FRONT

CB 469 9/16" 7" 3" 5/8" 1"

CB 112 5/8" 13" 8" 5/8" 1"
MERCEDES REAR

CB 472 3/4" 10" 4" 5/8" 11/16"

CB 465 9/16" 6" 3" 11/16" 13/16"

CB 465A 9/16" 6" 3" 11/8" 3/4"
MITSUBISHI FRONT

CB 459 9/16" 6" 29mm 22mm

CB 459A 9/16" 6 1/2" 41/2" 24mm 22mm
MITSUBISHI REAR CB 462 9/16" 10" 4" 1/2" 7/8"
MISC CB 399 1/2" 6" 3" 3/4" 3/4"
NISSAN UD FRONT CBS 38-6A 3/8" 6" 5" 16mm 14mm

CB 461 12mm 8" 3" 1" 11/16"

CBS 12M-6.5 12mm 6.5" 3" 11mm 16mm
VOLVO FRONT

CBS 12M-8 12mm 8" 3" 12mm 18mm

CBS 12M-10 12mm 10" 3" 12mm 18mm
WHITE FRONT CB 463 7/16" 8" 3" 5/8" 5/8"
WESTERN STAR FRONT CB 468 7/16" 9" 4" 3/4" 3/4"

Please Note: Due to variations in models it is advisable to verify part numbers with the dimensions shown prior to ordering.

3.08



DIMENSIONS

VEHICLE MODEL ?DI;\LIEI_M'Q;( OEM REF NOM OD LENGTH FRONT REAR
FORD LOUISVILLE BLT 365 3/8" 21/2" 9

INTERNATIONAL BLT 366 1/2" 3" 6

KENWORTH BLT 367 1/2" 4" 12

KENWORTH BLT 368 5/8" 8"

FREIGHTLINER BLT 369 12mm 90mm

HINO BLT 370 12mm 60mm 2

DIMENSIONS
BLUEMAX
VEHICLE MODEL PART NO OEM REF NOM OD LENGTH FRONT REAR
HENDRICKSON BLT 159 30550-002 1" 9" 8
HENDRICKSON BLT 160 30550-004 1" 9.5" 8
HENDRICKSON BLT 161 30550-006 1" 10" 8
HENDRICKSON BLT 636 30550-007 1" 10.5" 8

# P/N: N 162 (nut) SUITS ALL SADDLE BOLTS AS LISTED

DIMENSIONS

BLUEMAX
VEHICLE MODEL PART NO OEM REF NOM OD LENGTH FRONT REAR
S & TLINEACCO'C'&'D' " "
EARLY MODEL P120 441246C1 172 3 10
BEDFORD P196 7388475 1/2" 21/2" 6 6
HENDRICKSON P117 00062-001 5/8" 3 1/4" 2
MERCEDES BENZ P195 3529900337 14mm 90mm 6 6

3.09



Truck Shackles Pins
Section

—

|

¥
.
!
|

|

|

BLUEMAX Distributing Australia Wide Ph 1800 630 411
219 Toombul Road - Northgate Qld 4013 - Australia - www.ssa.com.au

f
’
\

|
i




VEHICLE
MODEL

DIMENSIONS
OEM
BLUEMAX REFERENCE 0.D LENGTH FRONT
PART NO NO

QUANTITIES

GREASE

REAR BUSHNO NIPPLE

END

ALL FORD TRUCKS
FITTED WITH
RT340 SUSPENSIONS

P022 DOHA5780G 1.25" 7.34"

BUO77BM
or
BUO788M

COTTER

ALL FORD TRUCKS
FITTED WITH
RT380 SUSPENSIONS

P023 DOHA5780F 1.375" 7.34"

BUO78BM

COTTER

LN800 900 8000 9000
LNT800 900 8000 9000
PRIOR TO 05/1987
AEROMAX

LTL-A LTL-S
LTL9000 LTS9000

CHECK SPECS
05.1987 - ON

E8HT5A314 1.00" 5.80" 6

BUO73BM

P015

E8HT5A314 1.00" 5.80" 4 ROF

BUO73BM

AEROMAX
LTL9000 LTS9000

CHECK SPECS
05.1987 - ON

P625 E5HZ5780B 1.00" 6.750" 2 FOF

BUO73BM

SILVERSTAR
LN HN80 STERLING

LT AT 9500
*Check Front of Front pin length
before ordering

P626 G80DBF7HZ57 1.25" 6.875" 4 RO.F

BUO77BM

*P626 G80DBF7HZ57 1.25" 6.875" 2 FO.F

BUO77BM

*P694 1.256" 6.9" 2 RO.F

BUO77BM

AEROMAX
L9000 LTL9000 LTS9000

CHECK SPECS
03/1989 - 05/1994

P540

Fits 19mm LF3K065
shackle plate * use 3/8" bolts
(narrow)

23.5x27mm 173mm 4 R.O.F

BU541

This pin to be
used with
P015 F.O.F

AEROMAX

L9000 LTL9000 LTS9000
CHECK SPECS
05/1994 ONWARDS

P918

Fits 30mm LM5348
shackle plate * use 1/2" bolts
(wide)

23.5x27mm 178mm 4 R.O.F

BU541

This pin to be
used with
P626 F.O.

D910 D010 D1210 D1212
D1311 D0807 D500-900

D0810 D1314 D1414
(FWD CONTROL 1965-1981)

D0911

P025 2000E5A314A  1.00" 5.00" 2 FOF

BUO72BM

COTTER

P025 2000E5A314A  1.00" 5.00" 6

BUO72BM

COTTER

3.1



DIMENSIONS QUANTITIES

OEM GREASE
VEHICLE BLUEMAX REFERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO NO END

D910 D010 D1210
D1212 D1311 D0807
D500 - 900 D0810 P016 1.00" 5.20" 4 RO.F BUO73BM HEAD

D1314 D1414
(FWD CONTROL 1965-1981)

D200 D300 D400
D500A D0507 D0607

D0710 D0812
(FWD CONTROL 1965-1981)

P021 CITT5465E 0.75" 4.28" 4 RO.F BUOG64BM HEAD

FORD TRADER
MODEL 0409 0509 P507 W02328111 2 FOF BU751UK HEAD
0811 0812

FORD TRADER
MODEL 0409 0509 P509 W02328110 2 FOR BU751UK HEAD
0811, 0812

DIMENSIONS QUANTITIES
OEM GREASE
a2 IR REFERENCE 0.D LENGTH FRONT REAR BUSH NO NIPPLE
MODEL PART NO
NO END
F80 FL80 FL112
ARGOSY & CENTURY CLASS - P694 16-12373-000 1.25" 7.00" 6 BUO77BM
SOME
BUO73BM
EYL(?N\?VEEE')ES P625 1.00" 6.750" 6 inside
BUO77BM
F80 FL80 F112 25x30.5x
ARGOSY & CENTURY CLASS - P692 16-12302-000 32mm ’ 181mm 6 BU693 HEAD

SOME

3.12



DIMENSIONS QUANTITIES

OEM GREASE
VEHICLE BLUEMAX o e FERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
ARGOSY
CENTURY CLASS 16-14603-000 Moulded
COLUMBIA P313 16-17770-000  1.25" 5.375" 6 Bush & Pin N/A
CORONADO 16-17194-000 Combo
WITH MOULDED PIN & BUSH NOTE: Some Later Models Have 4 x Hex Head Bolt As R.O.F Pins

DIMENSIONS QUANTITIES
OEM GREASE
VEHICLE BLUEMAX REFERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO NO END

|
RT-380 RTE380

RT-440 RTE-440
RT2-400 RT2-460 P255
RTE2-400 RTE2-460  bouto g 43146-000 1.375" 6.875" 2 BUO78BM
RT2-480 RT2-520
cotter grooves
RTE2-480 RTE2-520
U2:340UE2-340

COTTER
RT-340 RTE-340 " " BUO77BM
RU-340 RUE-340 P022 32276-000 1.25 7.34 2 BU178BM P117 .
1 per pin
COTTER
RT-380 RTE-380 " "
RT-440 RTE440 P023 32277-000 1.375 7.34 2 BUO78BM P117 .
1 per pin
FITTED WITH COTTER
HENDRICKSON P036 46958 1.25" 7.89" 2 gg?;;gm P117
1810A MODELS to 3070B 1 per pin

—— . 1 Lkt
o -1 IR s i a s e

MITSUBISHI WITH
HENDRICKSON DRIVE P473 MC606503 30x35x38mm  190mm 2 BU474 HEAD
SUSPENSION

3.13



VEHICLE
MODEL

BLUEMAX
PART NO

OEM

REFERENCE

NO

DIMENSIONS

0.D

QUANTITIES
GREASE
LENGTH FRONT REAR BUSHNO NIPPLE
END

FE3H RAVEN

FF1J RANGER 8

FF2H GRIFFON

GT1J RANGER Pro 8z - 4x4

GT173KA GT175KA 140mm
GT175KF GT175MA P922 48423-1561 30mm including 6 BU440BM SHANK
thread section
GT175MF 120mm shank
GT3H OSPREY
RG197 BUS AFTER CHASSIS No
40248
RG230 RK176
FM1J RANGER PRO 12
iéfjm 140mm
RANGERPRO9POST2003 bgon  48423-1561  30mm ‘induding 5 o F BU440BM SHANK
FM1J RANGER 14 & PRO14 thread section
FM 2632 120mm shank
GH1J RANGER
FG1J RANGER 9 PRE 2003 140|an
* Check pin type - It can be P922, P926 P922 48423-1561 30mm ineuding 6 BU440BM SHANK

or combination of both

thread section
120mm shank

FG1J RANGER PRO POST 2003

FL1J RANGER PRO 12

FL2427

FM1J RANGER 14

FM1J RANGER PRO14 P926
FM2632

GH1J RANGER PRO 9 &10

GH8J 2008
* can also be P475 refer page 3.15

30mm

147mm

*10mm thread

4 RO.F BU440BM COTTER

FG1J RANGER 9 ALL

FG1J RANGER PRO 9 POST 2003

GH1H SUPER EAGLE 1000

GH3H SUPER EAGLE 900 P915
GH1J RANGER 10

GH237

GT1J RANGER PRO 8z 4x4

48423-1730

38mm

152mm 6 BU137BM COTTER

FG172L 173L 175L 177L
FG192LD 193LD 195LD
FG197LD

GT3H OSPREY

P915

48423-1730

38mm

152mm 2 F.O.F BU137BM COTTER

3.14



DIMENSIONS

VEHICLE
MODEL

FG172L 173L 175L 177L
FG192L 193L 195L 197L
FG1J RANGER 9

FS1K ALL FS270KD

SUPER DOLPHIN

GH1J RANGER 10

GH237 GH3H

SUPER EAGLE 900

GH1H SUPER EAGLE 1000

OEM
BLUEMAX
PART NO REFERENCE

NO

P476

0.D

30mm

LENGTH

148mm

QUANTITIES
GREASE
REAR BUSHNO NIPPLE
END

FRONT

2 FOF BU970BM OPPOSITE

FE3H RAVEN

P476 48423-1260

30mm

148mm

2 F.O.R BU440BM OPPOSITE

FT163L FT165L
FT1J RANGER 52
FT3W KESTREL

P475 48423-1260

30mm

147mm

2 F.O.R BU121BM COTTER

FF172 FF173 FF177 k&L
FF192 FF193 FF197 k&L

P475 48423-1260

30mm

147mm

2 F.O.R BU440BM COTTER

FF2H GRIFFON
FE3H RAVEN
FF1J RANGER 8
KR300 320 360
LA540 LA560

P475 48423-1260

30mm

147mm

4 R.O.R BU440BM COTTER

FG172L 173L 175L 177L
FG192L 193L 195L 197L
FG1J RANGER PRO 9

FL1J RANGER PRO 12
FL2427 FS1K ALL
FS270KD SUPER DORLPHIN
GH1H SUPER EAGLE 1000
GH1J RANGER 10 & PRO 10

* can also be P926 refer page 3.14
GH237

GH3H (SUPER EAGLE 900)

P475 48423-1260

30mm

147mm

4 R.O.F BU970BM COTTER

FS270KD SUPER DOLPHIN

P475 48423-1260

30mm

147mm

6 BU970BM COTTER

3.15



DIMENSIONS QUANTITIES
OEM GREASE
RERICEE B REFERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
]
DUTRO 4 xzu411 P628
DUTRO 5 xzu410 Xzu420 * must check
XZU430 pin _
FC3J RANGER 5 f‘;’;fr']g:g'zze 48423-1640 25mm 122mm 2 F.O.F BU311BM SHANK
FC3W MERLIN P134 for Hino
FC4J RANGER 5 models FC3J
FC141K FC142KA FLEeTER & FC4J
FC144 FC144K FLEETER
FC146KA FLEETER P629
FD164L FD166L FD171K " mustcheck
FD174K FD176K FD176K O
contiguration - 48423-1650 25mm 110mm 4 R.O.F BU311BM SHANK

FD1J RANGER 6S
FD2J RANGER 6
FD3W HAWK
FD3H SUPERHAWK
FT3W KESTREL 4X4
FT163L FT165L
FT1J RANGER 52
GD3H HARRIER
GD164L GD166L
GD174K GD176K
GD1J RANGER PRO7
GD3H HARRIER

* can also use
P134 for Hino
models FC3J

& FC4J

4 ROF

P134 25mm 115mm or BU311BM COTTER

FC3J RANGER 5

FC3W MERLIN

FC4J RANGER PRO 5

FD1J RANGER 6S

FD2J RANGER 6

FD3H SUPERHAWK

FD3W HAWK

GD1J RANGER PRO 7

GD3H HARRIER

KL300 KLA300 KLA340
FD164L 166L

FD171K FD174K FD176K
FT163L FT165L

FC141K FC142K FLEETER
FC144KA FC146K FLEETER
GD164L & 166L

GD174K & 176K

FT163L FT165L

FT1J RANGER 5Z

FT3W KESTREL 4x4

P184 48423-1320 30mm 120mm 6 BU121BM COTTER

3.16



DIMENSIONS QUANTITIES
OEM GREASE
VEHICLE BLUEMAX CEFERENCE  0.D LENGTH REAR BUSHNO NIPPLE
MODEL PART NO
NO END

AS PER PREVIOUS PAGE
FOR P629 BUT GREASE ~ P629A  48423-2050  25mm 110mm BU311BM HEAD
NIPPLE AT OPPOSITE END

P228

“canuse  48423-1580
FF172 FF173 FRAT7 &L Paz8but 454731020  25mm 136mm BU390BM SHANK
FF192 FF193 FF197 kaL  grease nipple

Jioane TP 48423-1170
GS221 GS224 oppeste
FM3M SHRIKE -
KR300 KR320 KR360 P223
LA540 LA560 Pars bor
LB500 LB520 LB560 grease nipple 25mm 136mm BU390BM HEAD

at opposite

end
BG300 BUS
RG197 & RG230 P921 32mm 170mm 6  BU440BM HEAD
AFTER CHASSIS
#40248

2 ROR
CG277 RK176 RG197 8us  P920 30mm 156mm BU970BM HEAD
LOWER

KL300, 320, 340, 360 P183 48423-1310  25mm 125mm BU311BM SHANK
LA540 LA560 LB500
LB520 LB560 P185 48423-1370  30mm 140mm 2 F.OR BU440BM COTTER

KR300 320 360

3.17



DIMENSIONS QUANTITIES

OEM GREASE
VEHICLE BLUEMAX REFERENCE 0.D LENGTH FRONT REAR BUSH NO NIPPLE
MODEL PART NO
NO END
HINO DUTRO P1134
3.1T 51T to 6.2T Greasable 16mm 115mm 6 6 BU763UK HEAD
6000 6500 7500 8500 Bolt
NOTE: Use This Pin For Urethane Bushes Only
HINO DUTRO
3.1T 5.1T to 6.2T 501"134NG 16mm 115mm 6 6 HEAD
6000 6500 7500 8500 Greasable
Bolt NOTE: Use This Pin For Rubber/Silent Block Bushes Only
FB4J RANGER 4 o
DUTRO 4 DUTRO 5 P134 25mm 115mm 6 BU311BM COTTER

FC3J FC4J

3.18



DIMENSIONS QUANTITIES
OEM GREASE
RERICEE BLUEMAX o ErERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
ACCO ) ) BUO72BM
ACCO A & B & EAGLES P02 99532HB 1.00 5.00 6 SUosony COTTER
ACCO CAB OVER 1966-1972 " " BUO72BM
1800 C1820 C1840 C1900 P028 857766R1 1.00 5.00 6 o Uosopy OPPOSITE
BUO68BM
21311‘;% C;;‘;?SVIE?;::;NGS P027 95120HB 0.875" 4.00" 6 COTTER
(2 ) BUO79BM
C1500 C1600 C1800 »ROR
AB150 AB160 AB180 P028 99530HB 1.125" 4.88" BUO74BM COTTER
D1510 D1710
UPPER
SINGLE DRIVE REAR AXLE
1500 C1600 C1800 P029 63237HC 1.125 5.43 2-F.O.R BUO74BM COTTER
C1820 C1840 C1900
AB150 AB160 AB180
D1510 D1710 2-ROR
SINGLE DRIVE REAR AXLE P043 881289R1 1.250" 6.30" BUOS1BM COTTER
LOWER
P191 54215-7-2002  30mm 130mm 2 F.OF BU308BM COTTER
N1750 P192A  55224-7-5001  30mm 144mm 6  BU308BM COTTER
P234A  54215-Z-4000  30mm 138mm 4 ROF BU308BM COTTER
N1610, N1630, N1650 P193 54215-2-5007  28mm 113mm 2 F.OF 6  BU138BM COTTER
ACCO 510A P685 75" 450" 2 ROF BUO65BM COTTER
N1610 N1630 N1650 P194 54215-7-5006  28mm 111mm 4 ROF BU138BM HEAD

3.19



DIMENSIONS QUANTITIES
OEM GREASE
Ll s BLUEMAX REFERENCE 0.D LENGTH FRONT REAR BUSH NO NIPPLE
MODEL PART NO
NO END
Acco BU063
x4
::;050-?3; 600 AB150 P030 0.75" 3.94" 6 BU296BM
x 2 UPPER

D1510 1610 1710
ACCO-C, D, E
A, B EAGLES P031 303859C1 1.25" 5.28" 2 BUO75BM
S, TLINE
ACCO 1987 ON " "
WITH SPLIT CAP F.O.F BRACKET P650 3253295R1 1.00 7.125 2 FOF BUO73BM
SINGLE DRIVE REAR AXLE " "
ACCO-D, E, S, T P648 3254696R1 1.25 5.00 2 BUO75BM
C1500 C1600 C1800

" " BU063BM
D-LINE P030 97931HB 0.75 3.94 6 BU296BM
FWD CONTROL 2.25"WIDE SPRING
LOADSTARS " "
F1800 R190 P117 76771R1 0.875 4.75 6 BUOG69BM
ACCO C, S, T4x4
610A 620 P032 P916914S1 1.25" 5.61" 2 BUO75BM
410A 510A 4x4
MARK 1, 2, 3
T3866 3870 ATKINSONS P032 P916914S1 1.25" 5.61" 6 BUO76BM
SEDDONS
S, T LINES
ACCO-C, D, E SERIES
1.00" THICK SHACKLE PLATES P176 3249157R3 1.00" 6.50" 4 ROF BUO73BM
PIN TAKES COTTER BOLTS BLT366 -
(2 per pin)

NOTE: For all INTERNATIONAL / IVECO TRUCKS fitted with HENDRICKSON DRIVE SUSPENSION please refer to
SHACKLE PINS HENDRICKSON for complete details.

C1100 C1200 C1300
AB130 2.5"WIDE SPRING P033 856437R1 0.625" 4.00" 6 BUO62BM  HEAD
2-3TON - FWD CONTROL

——

ACCO C LATE MODEL
S & T LINE 4wD P186 468706C2 1.00" 5.30" 4 ROF BUO73BM
610 620A

S & T LINE EARLY MODEL

ACCO C ACCO D EARLY
PLATES PIN TAKES FLAT COTTERS
P120 - 2 per pin

3.20



DIMENSIONS QUANTITIES
OEM GREASE
VEHICLE BLUEMAX REFERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO NO END

ACCO C LATE MODEL
S & T LINE 4wD P222 468705C2 1.00" 6.00" 2 F.O.F BU0O72BM OPPOSITE
610A 620

ACCO C ACCO D MODEL
S & T LINE EARLY MODEL P035 468703C2 1.00" 7.00" 2 FOF BUO73BM OPPOSITE
PIN TAKES FLAT COTTER P120

I p 3
i\ kR R TTI T I T  LIY

TRANSTAR
4070 4200 P040 688953R1 1.375" 7.38" 2 FOF BU538 OPPOSITE
ATKINSON 4870

TRANSTAR
4070 4200 P044 688952R1 1.375" 7.40" 4 RO.F BUS38
ATKINSON 4870

ACCOD, E, G 2350G
S LINE

3253698R1

WITH SCREW PINS

multileaf & parabolic P536 3256851R1 1.375" 7.40" 6 BU538
3249590R1

TRANSTAR 4070 4600
4670 4700

S & T LINE WITH SINGLE
AXLE P923 1.25" 5.14" 2 BUO75BM COTTER
REAR SUSPENSION RADIUS ARM

INTERNATIONAL TRUCKS BUO77BM

WITH RT 340 P022 443864C2 1.25" 7.34" 2 OR COTTER
HENDRICKSON USPENSION BU178BM
INTERNATIONAL TRUCKS

WITH RT/RTE 380 P023 422232C2 1.375" 7.34" 2 BUO78BM COTTER
HENDRICKSON SUSPENSION

INTERNATIONAL TRUCKS BUO77BM

WITH RTE 340 P036 236162R1 1.25" 7.89" 2 OR COTTER
HENDRICKSON SUSPENSION BU178BM

3.21



DIMENSIONS QUANTITIES
OEM GREASE
VEHICLE BLUEMAX REFERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO NO END

NPR55 57 58 DUAL REAR

WHEEL
NPR58: NPR200
NPR250 CREW CAB
NPR300 CREW CAB Poa .
:Egigb ['opzé“ 250 300 :‘y’pihggkmﬂ; 8941221743 25mm 115mm 2 F.O.R BU083BM SHANK
NPR400 MEDIUM be #P134 for
NPR66: NPR200 NPR250 °'°P"
NPR300 NPR400
NPS59: NPS300 4X4
NPS75: NPS300 4X4 2006
P691
* for NPS4x4,
NPS75: NPS300 4X4 2006 :;p‘;“::kmfy‘ 8941221743 25mm 115mm 4 R.O.R BU083BM SHANK
be #P134 for
all 6 pins

KT25, 26 KS21, 32

FRR32 FRR500 1511610041 25mm 113mm 2 F.OF BUO83BM SHANK
FRR33 500 550 550S

FRR34 500 LONG FSR850 P132
FSR11 FSR12

FSR450 500 650 1511610043  25mm 113mm 2 F.OF BUO83BM SHANK
FSR33 FSR700 sTD cAB

FSS12 FSS500

FSS33 FSS550 4x4 P133 511610051 25mm 113mm 4 ROF BU083BM HEAD
SBR SCR FSR

3.22



DIMENSIONS QUANTITIES

OEM GREASE
Ll s BLUEMAX o rrERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
P1134
NPR66L: NPR200 Greasable 16mm 125mm 4  BUTSOUK b
Bolt
Front:
NPR75: NPR300
NPR75. NPR400 P1134 16mm 125mm 6 4 ROR ﬁg:fZUK HEAD
NPS75: NPS300 ot BU760UK
10/07 On
NOTE: Use This Pin For Urethane Bushes Only
NPR75: NPR300
NPR75: NPR400 2113‘;3 16mm 110mm 2 RO.R BU760UK HEAD
NPS75: NPS300 o
10/07 On NOTE: Must ground 3mm off rivet head behind shackle
NPR71: NPR300 P1136
NPR75: NPR300 Greasable 18mm 130mm 2 F.O.R BU760UK HEAD
NPR75: NPR400 Bolt
NPS75: NPS300 NOTE: Use This Pin For Urethane Bushes Only
P1134NG
NPRE6L: NPR200 Non 16mm 130mm 4 BU488HT HEAD
Greasable
Bolt NOTE: Use This Pin For Rubber/Silent Block Bushes Only
NPR75: NPR300 P1134NG BU488
NPS75: NPS300 (BBrTasable
t
10/07 On ° NOTE: Some applications require 2x P1134 and 2x P1134S
NPR71: NPR300 P1136NG
NPR75: NPR300 Non 18mm 130mm 2 F.O.R BU489 HEAD
NPR75: NPR400 Greasable
NPS75: NPS300 Bolt

NOTE: Use This Pin For Rubber/Silent Block Bushes Only

3.22



VEHICLE BLUEMAX
MODEL PART NO

DIMENSIONS QUANTITIES

OEM GREASE
REFERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
NO END

CVR162 CXY CXz
'GIGA385’

CXZ164

EXY 'GIGA425'

FSR32 - FSR700 CREWCAB
FSR33 FSR750

FTR11 FTR12 - FTR800
CHAS 3537437 1/1986 ON
FTR32 - FTR800 FTR33
FTR800 LONG

FTR800 CREW CAB
FTR850 MEDIUM

FTR850 LONG

FTS12 - FTS500 FTS750
80mm wide springs

FTS33 - FTS750 4x4
FVD23 - FVD950HD
FVM13 FVM23 - FVM1400
FVL23 - FVL1400

FVR11 FVR12 FVR14
FVR13 - FVR900

FVR23 - FVR950

FVR32 FVR33 - FVR900
950

FVY23 - FVY1400

FVZ13 - FVZ1400 PRE 2003
FVZ23 - FVZ1400
FVZR23 - FVR950HD PosT
2003

GVD23 - PRIME MOVER
GVR23 - PRIME MOVER
SHR SHZ SPz

P127

1511610310 32mm 135mm 6 BU214BM

CXG 166 TWIN STEER
CXH 169 TWIN STEER P127
SHG SPG SPH TWIN STEER

1511610310 32mm 135mm 12 BU214BM

FSR32 - FSR500 550 650

750 P127

1511610310 32mm 135mm 6 BU214BM

LT111 BUS P127

1511610310 32mm 135mm 6 6 BU214BM

3.23



VEHICLE
MODEL

CXG166 CXH169 CXZ164
CRV162

FTR32 WITH F41 SUSPENSION
FVR11 FVR14 PRE 2003
FVR13 FVR900 PRE 2003
FVR23 FVR950 PRE 2003

FVR33 FVR900 FVR950 PRE

2003
GVR PRIME MOVER
SHG SHH SHR
SHZ SINGLE DRIVE
SPG_SPH_SPZ

BLUEMAX
PART NO

P128

OEM

REFERENCE

NO

9513610661

DIMENSIONS

0.D

32mm

LENGTH

165mm

QUANTITIES

FRONT

REAR BUSH NO

2 BU216BM

GREASE
NIPPLE
END

COTTER

JCR JCS420

P129

9511610181

28mm

125mm

2 FOF

BU138BM

COTTER

JBR 1976-1980

P129

9511610181

28mm

125mm

BU138BM

COTTER

FTR11 FTR12 - FTR800
CHAS 3537436 END 1985

P130

9511610321

28mm

125mm

4 RO.F

BU138BM

OPPOSITE

FSR32 - FSR750

FTR11 FTR12 FTR800
TO CH#3537436

FTR32 - FTR800 NON F41
SUSPENSION

FTR33 - FTR800 850
FTS500 FTS700 FTS750
FTS12 FTS33 FTR800
FTR850

JCS420 JBR JCR

FTS 860N

JCS420

FVR11 FVR12
FTS12 - FTS500 FTS700

70mm wide spring

P131

9513610141

28mm

130mm

6 BU859BM

COTTER

P131

9513610141

28mm

130mm

2 BU859BM

COTTER

P131

9513610141

28mm

130mm

6 BU859BM

COTTER

3.24



VEHICLE
MODEL

FSR11, FSR12 to

CHASSIS # 3531227
eye slide spring

DIMENSIONS

QUANTITIES

OEM
BLUEMAX
PART NO REFERENCE

NO

GREASE
REAR BUSHNO NIPPLE
END

0.D LENGTH FRONT

P134 9513610341 25mm 115mm 2 BUO83BM COTTER

FSR12 from CHASSIS# 3531228
FSR450 FSR500
FSR650 from CHASSIS# 3531228

FSR33 - FSR700 CREW & STD

CAB
FSS12 - FSS500 550 4x4
FRR32 - FRR550

FRR33 FRR34 - FRR500
550S 650

FVR422

TLD24 44 54 56

KS21 32 KT25 26

KS 1971-1979 KT 1980-1984
SBR SCR

NPS59 -NPS300 4x4
NPS75 - NPS300 4x4 - 2006

P134 9513610341 25mm 115mm 6 BUO83BM COTTER

* On models NPS 4x4, please check pin type as may be 2 x P691 for F.O.R.

P134 9513610341 25mm 115mm 4 R.O.R BU083BM COTTER

P134 9513610341 25mm 115mm 2 F.O.R BU083BM COTTER

* On models NPS 4x4, please check pin type as may be 2 x P691 for F.O.R.

3.25



e i e 14 AR R ——

DIMENSIONS QUANTITIES
OEM GREASE
RERICEE BLUEMAX o ErERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
ALL MODELS 6282 \ ;
pLLMODELS P045 a3 1.375 7.38 2 F.OF BU082 HEAD
T650 Series 2 P047 K179-559 1.375" 7.80" 2 FOF BUO082 HEAD

Head Diameter - 27mm

ALL MODELS P044 5296 1.375" 7.40" 4 ROF BU082

DIMENSIONS QUANTITIES
OEM GREASE
REFERENCE O.D LENGTH FRONT REAR BUSHNO NIPPLE
NO END

VEHICLE BLUEMAX
MODEL PART NO

CRUISELINER

R600 R700 VALUELINER
METROLINER 1997
QUANTUM 2003

CHR 'F' MODEL 'R' MODEL
R600 R700 SUPERLINER P221 44QK173B 1.25" 6.25" 2 F.OF BUO76BM COTTER
MHR ULTRALINER

CLS 'CL688RS' TRIDENT
CLR TITAN

VISION 2007

MBR MCR MIR

3.26



VEHICLE
MODEL

DIMENSIONS QUANTITIES
OEM GREASE
BLUEMAX REFERENCE O.D LENGTH FRONT REAR BUSHNO NIPPLE
PART NO NO END

CRUISELINER

R600 R700 VALUELINER

METROLINER 1997
QUANTUM 2003

CHR 'F' MODEL 'R' MODEL
R600 R700 SUPERLINER

MHR ULTRALINER

CLS 'CL688RS’ TRIDENT
CLR TITAN VISION 2007

MBR MCR MIR

CLS 'CL688RS' TRIDENT

P180 44QK26A 1.322" 658" 4 ROF

MACK NEW BREED
SUITS 100MM WIDE SPRING

P978

o eyes 1075723 32mm 175mm 2FOF  BUST2  HEAD
porT 1076334 32mm 175mm 4 ROF ~ BU972  SHANK
SLOTTED AE

3.26



s —f

DIMENSIONS QUANTITIES

OEM GREASE
RERICEE BLUEMAX o ErERENCE 0o.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO

NO END
T3500 T4100 P507 W02328111 2 F.OF BU751UK  HEAD
WC87 89 90 92 94
WD80
WT75 76 77 78 79 80  P509 W02328110 2 FOR BU751UK  HEAD

DIMENSIONS QUANTITIES
OEM GREASE
VEHICLE BLUEMAX CEFERENCE  0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
1213 1217 1219 1419
1517 1724
2219 2222 2224 2225 P163 3853220030 25mm 126mm 6 BU0O83BM COTTER
2228
SINGLE / TWIN STEER
LA911B
1418 LP <CHAS 5963 P164 3403220430  25mm 122mm 6 BU083BM COTTER
1418 LS <CHAS 1942
1418LP / LS
1424 LP P165 3543250130  35mm 140mm 6  BU309BM COTTER
1619 LP
1924 2026 LP 2032 BU205BM
2226 2228 2232 2233 2235 USE WHEN
2236 2238 2244 P167 3953220430  25mm 140mm 6 cna®  COTTER
2626 2632 SEnLs
141819 LP /LS
SINGLE / TWIN STEER BU206BM
1217 1424 1517
2219 2222 2224 2225 P168 345357030 30mm 136mm 6  BU211BM COTTER
2228
LS1418 LS1419 P049 3543220030  25mm 117mm 6 BU083BM OPPOSITE
LPS1418 LPS1419 P050 3543250030  30mm 128mm 6  BU211BM COTTER

3.27



DIMENSIONS QUANTITIES

OEM GREASE
RERICEE BLUEMAX o ErERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END

FK415
FK417 < CHAS 029999 -  P237 MC420077 28mm 116mm 2 F.OF BU138BM OPPOSITE
1989
FK617 618 (FIGHTER 5.0 1F.O.F
FKOTEIHIM mrorremr P237 MC420077 28mm 116mm i BU138BM OPPOSITE
FK102 FK115 P239 MC420078 28mm 116mm 6 6  BU138BM COTTER
FH100 FK415
FK417 > CHAS 030000 P239 MC420078 28mm 116mm 2 F.OF BU138BM COTTER
AFTER 1989
FH100 FK415 FK417
FK455 FKAST P239 MCA404134 28mm 116mm 6  BU138BM COTTER
FK617 618 FIGHTER 5.0 1F.O.F
FKE1RIHIM motrren 20 P239 28mm 116mm U 6  BU138BM COTTER
FE85P CANTER P239 28mm 116mm 6  BU138BM COTTER
FM215 P234 MC009263  30mm 138mm 6 2 BU308BM COTTER
FM515 517 555 557
FM618 657 658 677 P234 MC009263  30mm 138mm 6  BU308BM COTTER
FN65
FK455 FK457 FM515
FM517 FM555 FM557
FM618 FM657 FM658 P235 MC420080 30mm 138mm 2 F.OF BU440BM OPPOSITE
FM677
FN61 62 64 65
FP418 FV113 FV315 FV358 P688 MC009258 35mm 152mm 2 F.OF BU215BM OPPOSITE
FV415 FV417 FV418 FV458
FV517 FV547 PK417 P687 MC031390 35mm 152mm 4 ROF BU215BM COTTER
FP418 P687 MC031390 35mm 152mm 6  BU215BM COTTER

P242 MC418256 28mm 110mm 2 ROF BU138BM COTTER
FH100 Lower

P243 MC418255 28mm 135mm 2 URp;g-F BU274BM COTTER
FS52J TWIN STEER P687 MC031390 32mm 52mm 8 RO.F BU215BM COTTER

3.28



DIMENSIONS QUANTITIES
OEM GREASE
RERICEE BLUEMAX o ErERENCE o.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
FK415 FK417 P238 MC403611 28mm 120mm 4 ROF BU138BM  HEAD
FM515 FM517 FM555
FM677
FN65 BU440BM
FK455 FK457 P236 MC404416 30mm 141mm 4 ROF (BZ)US,&PSQQB y  HEAD
FM557 FM618 FM657
(2) Chassis
FM658
FN61 FN62 FN64
FK617 FK618 P689 MC092193 28mm 117mm 4 ROF BU138BM  HEAD
DIMENSIONS QUANTITIES
UEM GREASE
RELCEE BLUEMAX o e cERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PARTNO - ENA

FV358 FV458
RT 380 HENDRICKSON

P473

MC606503

30x35x38

190mm 2 BU474 HEAD

3.29



DIMENSIONS QUANTITIES
OEM GREASE
a2 BLUEMAX o ErERENCE o.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
P787 22mm 118mm 2 F.OF BU723UK  HEAD
FC FE FE85P FG CANTER S786K 2 ROF
pins come 22mm 135mm each shackle BU723UK  HEAD
with complete contains
shackle 2 pins
P1134 16mm 125mm 2 F.OF BU723UKT  HEAD
Must Re-use
FEB51 FEB71 FEC71 Locating Plate NOTE: Must inspect before ordering some early models may still take P787
FGB71 4X4 S786K 2 ROF
pins come 22mm 135mm each shackle BU723UKT  HEAD
with complete contains
shackle 2 pins
P1043 P1043A P1042
CANTER MODELS P1042 2 FOR
FC432C FC432E FE334 Must Check MB035277 28mm 135mm BU138BM COTTER
FE339 FE434 FE439 Pin Types 2 ROR
FE444 FE449 FE537 UPPER
FE539 FE634 FE637 P1043A
FE639 FE647 FE649 Must Check  ML282073 28mm 116mm 2 ROR gj138BM OPPOSITE
FE657 FE659 FE73B Pin Types LOWER
FE83P FES5P FG434
FG439 Crew Cab FG639  P1043 2 ROR
FG649 FG659 FGB4D Must Check  MB035281 28mm 116mm o BU138BM  COTTER
Pin TV@
P1043 P1043A P1042
01042 2 F.OR
Must Check MB035277 28mm 135mm » ROR BU138BM COTTER
Pin Types UPI.DE-R
FEC71 P1043A
FGBT71 4X4 MustCheck ML282073 28mm 116mm 4 RO.R BU138BM OPPOSITE
Pin Types
P1043
Must Check MB035281 28mm 116mm 2Lon'vCE)E<R BU138BM COTTER
Pin Types

NOTE: Must Check Configuration on ALL MITSUBISHI CANTER PINS

3.29



DIMENSIONS

VEHICLE BLUEMAX
MODEL PART NO

CPA87

CPB14 CPB87 CPB88

CPC14 CPC15 P191
PK240 PK245 PK250

PKC310

OEM
REFERENCE
NO

54215-2-2002

0.D

30mm

LENGTH

130mm

QUANTITIES

FRONT

2 FOF

GREASE

REAR BUSHNO NIPPLE

END

BU308BM COTTER

CK11 CK30 CK40

CPB12 CPC12 CV41

CW40 CwW41 CW50 CW51
CW240 P191
CWA12 CWA14 CWA15
CWA310

PK240 TW50

54215-2-2002

30mm

130mm

2 FOF

BU297BM COTTER

CPB12 CBP14 CVM1

CPC12 CPC14 CPC15 P191

54215-2-2002

30mm

130mm

2F.O.R BU297BM COTTER

CK10 CK11 CK30 CK40
CW50 Cw51

SHACKLE TYPE SPRING ONLY-
PRIOR 1980

CKB450 CKB452 CKB455

CGA45 CGA46 P192

CKA45 CKA46 CKA290
CPB12 CPC12

CV41 Cw41

CWA12 CWA14 CWA45
CWA46 CWAT70 CWAT1

54215-2-2004

30mm

144mm

4 RO.F

BU297BM OPPOSITE

CKB450 452 455

CWB450 P192A

54215-Z-0002

30mm

144mm

BU297BM COTTER

CPA87 CPB14 CPB87
CPB88 CPC14 CPC15 P542
PK240 245 250 PKC310

55224-7-5001

30mm

142mm

6

BU308BM COTTER

3.30



DIMENSIONS QUANTITIES
OEM GREASE
VEHICLE BLUEMAX REFERENCE 0.D LENGTH FRONT REAR BUSH NO NIPPLE
MODEL PART NO

NO END
CMA81 CMA86 CMAS87
CM80 CM90 CM160 CM180
CMF87 CMF88
CLG87 CLG88 P193 54215-Z2-5007  28mm 113mm 6 BU138BM COTTER
MK180 MK185 MK235
MKB183 MKB185 MKB210
MKB240 MKB245 MKB265
CMA86 CMA87 CMB87
CMF87 CMF88
MK180 MK185 MK235 P193 54215-2-5007  28mm 113mm 2 FOF BU138BM COTTER
MKB183 MKB185 MKB210
MKB240 MKB245 MKB265
CKA45 CWw450
CW445 CWA45 CWA46 P234A 54215-Z-4000  30mm 138mm 2 F.O.F BU297BM COTTER
CWA70 CWAT71 CWB483
CPA87 CWA15
CPB14 CPB87 CPB88
CPC14 CPC15 P234A 54215-Z-4000  30mm 138mm 4 R.O.F BU308BM COTTER
PK240 PK245 PK250
PKC310
CKA45 CKB450 CPC12 P252 55224-7-1000  35mm 162mm 6 BU309BM COTTER
cva P252 55224-Z-1000  35mm 162mm 2 F.O.R BU309BM COTTER
CK10 CK11 CPB12 P253 55224-7-0001  28mm 132mm 6 BU859BM COTTER
CK30 CK40 P252A 55224-7-0002  35mm 162mm 2 F.O.R BU309BM OPPOSITE
CM80 CM90 CMAS81 54215-2-5006
CMA86 CMB87 P194 54215-7-5001 28mm 111mm 4 ROF BU138BM HEAD
CLG87 CLG88 CMF87
CMF88 CMA81 CMAS87
MK180 MK185 MK235 P198 54215-Z2-5003  28mm 109mm 4 R.O.F BU138BM HEAD

MKB183 MKB185 MKB210
MKB240 MKB245 MKB265

3.31



DIMENSIONS QUANTITIES
OEM GREASE
VEHICLE BLUEMAX REFERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO NO END

LB111 LB140 LB141

LB80 LB885 LBS885

LBS110 LBS1411 LBS140

R112 R112H R142 P515 355149 ?nzr:)aexsz 160mm 4 BU145  HEAD
LP110 LP1411

LBT111 LBT141

LPT111 LKT141

112 114G 142

400 SERIES 32x36x48
G82H G82M G112H G112m P125 355147 * 0 165mm 12 BU145  HEAD

LB LKT111 LTB111
LB80 LB85

LB111 LB140 LB141
LBS85 LBS110
LBS140 LBS141
LBT141 LKT141 P126 355145 (zrfn:‘)27X36 165mm 6 BU144  HEAD
LP110 LP141 LPT111

P82H P82M P92M

P112H P112M

P122H P122M

R112 R112H R112M

R113H R142 R142M 24x27x36
T82H T82M T122M P516 355146 ()
T122H T142M

153mm 4 BU950 HEAD

DIMENSIONS QUANTITIES
OEM GREASE
VEHICLE BLUEMAX REFERENCE O.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
STERLING P626 G80DBF7HZ57 1.25" 6.875" 6 BUO77BM

3.32



3

DIMENSIONS QUANTITIES
OEM GREASE
RERICEE BLUEMAX o ErERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
==
2-F.OF
P123 339465 ALL
F SERIES S i 151429 32x35x38mm  175mm MODELS BU142  SHANK
FL SERIES
N SERIES
NL SERIES
G88 G89 4ROF
SINGLE/ TWINSTEERQTYsx2 ~ P123A 339465 32x35x38mm 175mm  EYE-EYE BU142  HEAD
SNAKE EYES 1614229 SPRING

NOTE: Check all pin types as can be a combination of both.

PINSx2 8039688 NOTE: O h dut licati the 2nd st h
HEAVY DUTY TWIN STEER : On some heavy duty applications the 2nd steer hanger may

feature a larger pin and bush.

PINS x4 8039688

P977

SLOTTED 1076334 32mm 175mm 6 BU972 SHANK
FH LATE MODEL

P978

SNAKE EVES 1075723 32mm 175mm 6 BU972 HEAD
F86 F88 22x27x30
WITH THREADED PINS P122 351190 (mm) 120mm 6 BU143 SHANK
F86 P520 310240 0.9375" 475" 6 BU521BM

WITH STRAIGHT PINS

3.33



DIMENSIONS QUANTITIES
OEM GREASE
RERICEE BLUEMAX o ErERENCE 0.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
ALL MODELS UP TO FX
3800 SERIES 'E'and’S"  pgqq 37121-4004 1.00" 7.875" 2 FOF BUO73BM

MODEL
(WEST001)

FX BAULDERSTONE

3800E 1996 ON P908 37121-3412 1.125" 7.325" 2 FOF BU905BM
4800 SERIES HERITAGE

4800 4900 SERIES

CONSTELLATION

5900 SERIES

6900 SERIES F MODEL P909 37121-3413 1.125" 6" 4 R.O.F BU905BM
PARABOLIC / MULTI-LEAF
WEST003 WEST005

P906 37121-3418 1.181" 7.09" 2 F.O.F BU790
CONSTELLATION
Late '987?

P907 37121-3419 1.181" 6.50" 4 R.O.F BU790
FX4800 - FX4900
CONSTELLATION POST P910 1618213000 32mm 182mm 6 BU793

2010

ALL MODELS UP TO FX
3800 SERIES 'E'and 'S’ 506268 " "
MODEL P056 37125-3401 1.00 6.12 4 RO.F BUO73BM HEAD

(WEST001)

3.34



DIMENSIONS QUANTITIES
OEM GREASE
RERICEE BLUEMAX o ErERENCE o.D LENGTH FRONT REAR BUSHNO NIPPLE
MODEL PART NO
NO END
I ——————————————
ROAD BOSS . . 1RH
4000 P057 27025180 1.00 6.40 FoF BUO73BM
QR&‘:D COMMANDER P057 27025180 1.00" 6.40" 2 FOF ~  BUO73BM
ROAD COMMANDER 11 . . o
EXPEDITOR P254 37121-0001 1.125 7.00 6 . :BUQOSBM
ROAD BOSS " " L
4000 P124 11013046 1.00 7.78 FOF e BUO73BM

ROAD BOSS 4000 . S
ROAD COMMANDER 9000 P056 506268 1.00 6.21 4ROF BUO73BM HEAD

NOTE: For all INTERNATIONAL / IVECO TRUCKS fitted with HENDRICKSON DRIVE SUSPENSION please refer to

SHACKLE PINS HENDRICKSON for complete details.

3.35



U Bolts and Blanks
Section

BLUEMAX Distributing Australia Wide Ph 1800 630 411
219 Toombul Road - Northgate Qld 4013 - Australia - www.ssa.com.au




U Bolts and Blanks
Section

BLUEMAX Distributing Australia Wide Ph 1800 630 411
219 Toombul Road - Northgate Qld 4013 - Australia - www.ssa.com.au




- ~
L
T
_w_
BlueMax Part No. Form Specifications
L w M M T
UB964 SQUARE 120 62 14 9/16 58
UB967 SQUARE 125 72 14 9/16 60
UB236 SQUARE 160 72 14 9/16 70
UB435 SQUARE 250 72 14 9/16 70
UB433 SQUARE 320 72 14 9/16 70
UB464 SQUARE 190 73 14 9/16 70
UB436 SQUARE 220 73 14 9/16 120
UB432 SQUARE 285 73 14 9/16 100
UB960 SQUARE 100 72 16 5/8 55
UB505 SQUARE 130 72 16 5/8 65
UB231 SQUARE 165 72 16 5/8 78
UB230 SQUARE 190 72 16 5/8 76
uB973 SQUARE 245 72 16 5/8 100
UB966 SQUARE 270 72 16 5/8 100
UB963 SQUARE 315 72 16 5/8 100
uUB504 SQUARE 350 72 16 5/8 65
uB584 SQUARE 380 72 16 5/8
UB582 SQUARE 400 72 16 5/8
UB550 SQUARE 405 72 18mm 3/4
UB585 SQUARE 465 72 18mm 3/4
UB548 SQUARE 500 72 18mm 3/4
uUB243 SQUARE 170 72 19 3/4
uB507 SQUARE 240 72 19 3/4
UB503 SQUARE 270 72 19 3/4
uB508 SQUARE 320 72 19 3/4
UB506 SQUARE 355 72 19 3/4 100
UB538 SQUARE 470 72 19 3/4 108
UB259 SQUARE 508 75 19 3/4
UB260 SQUARE 254 76 19 3/4
UB232 SQUARE 230 82 19 3/4 100

3.47



~ ~
L
T
_w_
BlueMax Part No. Form Specifications
L w M M T
uB241 SQUARE 250 82 19 3/4 100
UB240 SQUARE 305 82 19 3/4
uUB509 SQUARE 400 82 19 3/4
uB242 SQUARE 225 92 19 3/4 105
UB261 SQUARE 285 92 19 3/4 103
UB268 SQUARE 250 102 19 3/4
UB263 SQUARE 300 102 19 3/4 148
UB264 SQUARE 335 102 19 3/4 80
uUB557 SQUARE 460 82 20 3/4 153
UB558 SQUARE 570 82 20 3/4
UB233 SQUARE 230 92 20 3/4 100
UB543 SQUARE 245 82 22 7/8 110
UB542 SQUARE 400 82 22 7/8
UB510 SQUARE 430 82 22 7/8
UB511 SQUARE 480 82 22 7/8
UB244 SQUARE 230 92 22 7/8
UB561 SQUARE 241 92 22 7/8
UB245 SQUARE 280 92 22 7/8
UB572 SQUARE 215 102 22 7/8
uB271 SQUARE 220 102 22 7/8 105
uB270 SQUARE 255 102 22 7/8
uB273 SQUARE 270 102 22 7/8
UB78-5-12.5SQ SQUARE 318 127 22 7/8 100
UB78-5-14.5SQ SQUARE 370 127 22 7/8 100
UB78-5-16SQ SQUARE 406 127 22 7/8 150
UB78-6-16SQ SQUARE 406 152 22 7/8 150
UB1-6-17SQ SQUARE 432 152 25 1 80
UB1-6-19SQ SQUARE 483 152 25 1 80
UB564 SQUARE 419 102 32 11/4

3.48



L
T
e
BlueMax Part No. Form Specifications
L w M M T

I —
UB569 ROUND 460 72 19 3/4 100
UB925 ROUND 325 75 19 3/4 96
UB924 ROUND 420 75 19 3/4

UB266 ROUND 280 92 19 3/4 100
UB589 ROUND 264 102 19 3/4

UB586 ROUND 292 127 19 3/4
UB34-5-12.5RD ROUND 317 127 19 3/4

UB588 ROUND 343 127 19 3/4
UB34-5-14.5RD ROUND 370 127 19 3/4
UB34-5-15.5RD ROUND 394 127 19 3/4 100
UB376 ROUND 430 127 19 3/4
UB78-3-12.5RD ROUND 318 75 22 7/8
UB78-3-13.5RD ROUND 330 75 22 7/8 104
UB78-3-14.5RD ROUND 368 75 22 7/8
UB78-3-15.5RD ROUND 381 75 22 7/8

UB571 ROUND 406 75 22 7/8 105
UB78-3-17.5RD ROUND 445 75 22 7/8 100
UB78-3-18.5RD ROUND 470 75 22 7/8

UB710 ROUND 480 82 22 7/8
UB78-3.5-15.5RD ROUND 394 90 22 7/8 100
UB234 ROUND 260 92 22 7/8

UB272 ROUND 270 102 22 7/8

UB785 ROUND 390 102 22 7/8 100
UB541 ROUND 305 127 22 7/8
UB78-5-12.5RD ROUND 317 127 22 7/8 100
UB78-5-13.5RD ROUND 343 127 22 7/8 100
UB78-5-14.5RD ROUND 368 127 22 7/8 100
UB533 ROUND 381 127 22 7/8
UB78-5-15.5RD ROUND 393 127 22 7/8 100
UB78-5-16.5RD ROUND 419 127 22 7/8
UB78-5-17.5RD ROUND 432 127 22 7/8 100
UB597 ROUND 360 102 27mm 11/8 75

|
3.49



T
BlueMax Part No. Form Specifications
L w M M T

UB235 SEMI-ROUND 190 72 16 5/8 72
UB559 SEMI-ROUND 420 72 18mm 3/4 100
UB529 SEMI-ROUND 455 72 18mm 3/4

UB583 SEMI-ROUND 500 72 18mm 3/4

UB692 SEMI-ROUND 345 72 19 3/4

UB962 SEMI-ROUND 380 72 19 3/4

uB237 SEMI-ROUND 250 82 19 3/4

UB239 SEMI-ROUND 305 82 19 3/4

UB573 SEMI-ROUND 381 90 19 3/4

UB693 SEMI-ROUND 205 92 19 3/4

UB696 SEMI-ROUND 230 92 19 3/4

UB238 SEMI-ROUND 280 92 19 3/4 105
UB262 SEMI-ROUND 235 102 19 3/4 102
uUB257 SEMI-ROUND SPECIAL 255 102 19 3/4 158
UB926 SEMI-ROUND SPECIAL 285 102 19 3/4 101
UB694 SEMI-ROUND 225 92 22 7/8 101
uUB697 SEMI-ROUND 258 92 22 7/8

UB698 SEMI-ROUND 280 92 22 7/8

UB522 SEMI-ROUND 210 102 22 7/8 81
UB525 SEMI-ROUND 255 102 22 7/8 80

3.50



H
T
BlueMax Part No. Form Specifications
L w M M T

I —
UB526 ROUND FORGED 360 90 24 1 127
UB438 ROUND FORGED 560 92 24 1
UB577 ROUND FORGED 305 92 27 11/8 96
UB578 ROUND FORGED 350 92 27 11/8 127
UB576 ROUND FORGED 365 93 27 11/8 128
UB579 ROUND FORGED 380 92 27 11/8 125
UB580 ROUND FORGED 410 92 27 11/8 100
UB581 ROUND FORGED 430 92 27 11/8 100

3.51



H

T
BlueMax Part No. Form Specifications

L W M M T
I —

UB544 SEMI-ROUND FORGED 455 82 24 1 74
UB554 SEMI-ROUND FORGED 510 82 24 1 150
uB547 SEMI-ROUND FORGED 570 82 24 1
UB592 SEMI-ROUND FORGED 470 102 24 1 100
UB546 SEMI-ROUND FORGED 310 92 27 11/8 89
UB549 SEMI-ROUND FORGED 320 102 30 1 3/16

3.52



H

T
BlueMax Part No. Form Specifications

L W M M T
I —

UB544 SEMI-ROUND FORGED 455 82 24 1 74
UB554 SEMI-ROUND FORGED 510 82 24 1 150
uB547 SEMI-ROUND FORGED 570 82 24 1
UB592 SEMI-ROUND FORGED 470 102 24 1 100
UB546 SEMI-ROUND FORGED 310 92 27 11/8 89
UB549 SEMI-ROUND FORGED 320 102 30 1 3/16

3.52



Ph 3370 3200

WWW.S§S5A.COm.au

—
+_+
—

| e
SUSPENSION SUPPLIES AUSTRALIA

Suspension
Parts

Aust Wide

SPRING MANUFACTURING E
NATIONAL DISTRIBUTORS F

EXPERT ADVICE

[=]




/[ —
%
A
-
SUSPENSION SUPPLIES AUSTRALIA

WWW.SSa.com.au

HEAD OFFICE BRISBANE
4/919-925 Nudgee Rd
Banyo Queensland 4014
Phone: 1800 630 411

Servicing

Mack | Mercedes | Kenworth | Nissan| Toyota | Volvo | Isuzu | Mitsubishi | Ford
Scanial Western Star | Mazda | Freighter | Freightliner | Hendrickson | International / Iveco
Fruehauf | Haulmark | McGrath | Reyco | Rubery Owen | York



